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de-1 (Set-1)
gd- 12 [EARECUNIEE] quiteh-40 qHY-1:30 ©¢
(Class-12) (Sub-Economics) (F.M-40) (Time-1:30 hours)

AT fA¢2r (General Instructions) -
> odteedt JUrgHT 39 esel H I S

Examinees are required to answer in their own words as far as practicable.

> ol =T dhr HEdT 19 gl

The total number of questions is 19.

> T HEIT 1 ¥ e HEAT 7 e i T 99 &1 5rH @ fohegl 9ra yest &

3¢ IHaH T g H AT IAS 9T T AT 2 3 FURT gl

Question number 1 to Question number 7 are very short answer type

questions. Answer any five of these questions in at most one sentence. Each

question carries 2 marks.

> 99T HEAT 8 § YT HEAT 14 T ofgalid WRe &1 3ot ¥ fohedl 5 Ul & 3

3IHdH 50 ereal A TAT| T AF 9T &l AT 3 b UG Tl

Question number 8 to Question number 14 are short answer type questions.

Answer any five of these questions in at most 50 words. Each question carries

3 marks.

> T TEAT 15 F 9T TEAT 19 dah & 3a3T I g1 S8 & fohegr el 92l &

3¢ 3f¥had 100 sai H ST 9 s W &1 AT 5 35 R &

Question number 15 to Question nhumber 19 are long answer type questions.

Answer any three of these questions in at most 100 words. Each question

carries 5 marks.



s- A 3fd T uRa
Section-A Very short answer type questions
farafaf@a # & Rl 9ig g2t & 3R STl
Answer any five from the following questions.

1. GATE 3qemET & gReva Hifaw|
Define Macroeconomics.
2. [afaaer & gienisa HifSw
Define Investment.
3. YRAT ReTd & i TUar Fa & 5 A2

When was the Reserve Bank of India established?

4. YcTeT X AT g7
What is Direct Tax?
5. RON T I Yol T F3T g7
Why the repayment of loans is capital receipts?

6. Ifeg MPC & AT 0.3 § df MPS &7 #T T g19m?
If the value of MPC is 0.3 then what will be the value of MPS?

7. §¢ 3YTATAT H 3T FAT FHSAT 87

What do you understand by closed economy?
Ts-B TERIT g
Section-B Short answer type questions.
farafaf@a # & fregl 9ig geat & 3 STl
Answer any five from the following questions.

8. Yolardl 3rdegaedr & faredl et fadwamnit ar fafaw
Write any three characteristics of capitalist economy.
9. UGS S o fohegl cilel HIAT T 3eol@ HITIT|
Mention any three functions of a commercial bank.
10.7e79dl avq AR 3ifdA a&g # IR T AfFC|
Differentiate between Final goods and Intermediate goods.

11398097 &1 AATT Igiy 41 82 T§ S H AT 99y @ e gehR FeferdT g2



What is Marginal Propensity to Consume? How is it related with Marginal Propensity

to Save?
12.31% Tale I 39 AT FHSTT 87 31807 S|

What do you understand by Economic agents? Give examples.

13.35T8T @M &7 ST S|
Explain the term Revenue Account.

14.9gell 3 ¥egaedT T 30T Higd FASSU|

lllustrate open economy with example.
@s-C & 3o et
Section-C Long answer type questions
fAeafaf@a # & gl dia gal & 3@ v

Answer any three from the following questions.

15.TSET 3T T 0T T 347G [ty &1 guie S|
Explain Product Method of calculating National Income.
16. =TT 31TehsT & ¥ Hed Jai& i AU HIfT|

Calculate Net Value added from following data
(@ ¥4 #H) (Lakh Rupees)

a) fashT (Sale) 200
b) @Td HATel T %a (Purchasing of Raw material) 050
c) 3ifad ¥eie (Final stock) 15
d) URfFH® FTid (Initial Stock) 10
e) 3Idd ET‘\G’IT T 39879 (Consumption of Fixed capital)) 10

17 9T 3662 Taislel & T o1 1 AT i1 e Hifae|
Explain the demand for money for speculative motive.

18.71 &I qfc & FAT dIcqd §? ARAT RTT deh o GanrT T FHer T Ifcd & depiodeh
ATl aRNT ST (1+4)

What is meant by supply of money? Define the alternative measures of supply of

money published by Reserve Bank of India.
19.f58 W@r F yafes Rve fir sarear Ry fr ggraar O fifav)

Explain parametric shift in a straight line with graph.
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dqe-2 (Set-2)
aa-12 [ERRECUNIEE] quiter-40 qAY-1:30 ©¢
(Class-12) (Sub-Economics) (F.M-40) (Time- 1:30 hours)

AT fAder (General Instructions)-

>

el JUrFHT A9 ersal H I |

Examinees are required to answer in their own words as far as practicable.
el Tl T FqEdr 19 g

The total number of questions is 19.

9o TEAT 1 @ e HEAT 7 deh i FTLNT TReT 81 g1 @ fohegl dier weadl &
IR AVFAA T arFg & QA0 9AF 9T H A 2 3 AuiRa 2

Question number 1 to Question number 7 are very short answer type
questions. Answer any five of these questions in at most one sentence. Each
question carries 2 marks.

U TEAT 8 § YA HEAT 14 Tch I WRe &1 oA & fohegl 5 9ol & 3N
HfwdTA 50 ereal #H AT Idh IR &I AT 3 3 iR gl

Question number 8 to Question number 14 are short answer type questions.
Answer any five of these questions in at most 50 words. Each question carries
3 marks.

geel HEAT 15 § U2l HE&AT 19 T T 30T U g1 397 & ool el URaAl &
3R FfFAA 100 2rsai H QAT I 9T &1 Al 5 37 AU gl

Question number 15 to Question number 19 are long answer type questions.

Answer any three of these questions in at most 100 words. Each question

carries 5 marks.



gs-A 3fd T wRe
Section-A Very short type questions
frafaf@d # & fregl 9ig geat & 3R S|
Answer any five from the following questions.

1. 3fd& weic Fi gla 872
Who are the economic agents?
2. U T & IRATNT HST|
Define National Income.
3. a9rg AT 3equrd (CRR) & 319 7 THSA 872
What do you understand by cash reserve ratio?
4., TIHRY dolc T 7T FIT FASTA o7
What do you understand by Government budget?
5. Toied 9Ifed & 39 FA7 GHSId 87
What do you understand by Revenue Receipt?
6. FHIF AT FIT 8§72

What is aggregate demand?

7. SUOR "ol F7 §7?

What is balance of trade?
Ys-B Tgig 9T
Section-B Short answer type questions.
farafaf@a 7 & fhegl g1 weal & 3% Q9|
Answer any five from the following questions.

8. 1929 &. &r faea fr AGEHET FI quid HfAU]
Describe the Great depression of world of 1929.

9. g¥q fafasa gomel & el Tk gy 1 guie HIfT|
Describe any one demerit of barter system of exchange.

10.9cT8T T I 380l Algd FHSNSTI
Illustrate Direct Tax with example.

11.%et 3R vyag W F aReaa fHifs)
Define Stock and Flow variables.
12. GATE AAET & 37 FI HASASU

lllustrate the meaning of Macroeconomics.



13.9HIT AT & geal i QT

Mention the components of the Aggregate Demand.

14879117 Y & TTe] WId & "l 1 faf@u]

Write the components of Current Account of the Balance of Payment.
@s- C &Y 380y g
Section- C Long answer type question
fArfaf@a # & el i geat &1 3R qfSw|

Answer any three from the following questions.

15. arEdias Yarg 3R Alfge vag # I TOse Fifau|
Differentiate between Real flow and Monetary flow.

16.fAATAf@d 3isT @ 3 fAfT & AT ST W el ®6] 341G & 07T RfFT

Calculate GDP;. by Income method from following data.

(@13 9T H) (Crore Rupees)

a) FHEAIRAT @1 gIi#fAS (Remuneration of Employee) 13300

b) s (Interest ) 1500
c) o9l (Rent) 1000
d) om- (Profit) 1500
e) TRISEIR & AT 3T
(Mixed Income from self-employment) 16100
f) 3I9cT&T Y (Indirect Tax) 800
300

g) HeIdr (Subsidy)
17.7g1 & &t #T qule HITST|

Explain the functions of Money.
18.<A1qHIR—® d& IR deald o F 3T TI5¢ HfIT|
Explain the difference between commercial bank and central bank.

19.393fer 1 WA Jgid (MPC) # qRaclel &l HHIT HIIT W IS dTel THIG T AREAT Teh
39 WIT & HIfT|

Explain the effect of change in MPC (Marginal Propensity to Consume) on aggregate

demand with a suitable graph.
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-3 (Set-3)
ga-12 fas-3rdemes quiier-40 "HY-1:30 ©¢
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AT fAder (General Instructions) -

>

el JUrFHT A9 ersal H I |

Examinees are required to answer in their own words as far as practicable.
el Tl T FqEdr 19 g

The total number of questions is 19.

9o TEAT 1 @ e HEAT 7 deh i FTLNT TReT 81 g1 @ fohegl dier weadl &
IR AVFAA T arFg & QA0 9AF 9T H A 2 3 AuiRa 2

Question number 1 to Question number 7 are very short answer type
questions. Answer any five of these questions in at most one sentence. Each
question carries 2 marks.

U TEAT 8 § YA HEAT 14 Tch I WRe &1 oA & fohegl 5 9ol & 3N
HfwdTA 50 ereal #H AT Idh IR &I AT 3 3 iR gl

Question number 8 to Question number 14 are short answer type questions.
Answer any five of these questions in at most 50 words. Each question carries
3 marks.

geel HEAT 15 § U2l HE&AT 19 T T 30T U g1 397 & ool el URaAl &
3R FfFIA 100 2rsai H QAT I 9T &1 Al 5 3 AU g

Question number 15 to Question number 19 are long answer type questions.

Answer any three of these questions in at most 100 words. Each question

carries 5 marks.



Gs-A A TLRT et
Section-A Very short type questions
frafaf@d # & fregl 9ig geat & 3R S|
Answer any five from the following questions.

1. 3megfaeh 3remeT &I Sieish fond gl SiTem 872
Who is known as father of modern economics?
2. TSET 3T A 1 T fafeat & = fofaw)
Name the three methods of measuring National Income.
3. 3 & THT YATg A HAEIUT T HROT FAT §?
What is injection in circular flow of income?
4. T 1 IR QST
Define Money.
5. TaTId 39HET A IRATNT Hiisw]
Define autonomous consumption.
6. Yollard Wit & 319 AT HASA o7
What do you understand by capital receipt?
7. AT I hoUedT I TISC TV

lllustrate the concept of Import.

TS-B T e

Section-B Short answer type questions.
fArfaf@ad & O fegl grg weal & 39 §fov|
Answer any five from the following questions.

8. THATSC YATET T ThC T IITGEAT & &1F%h ‘Ted &1 FI gUlel HITIT|
Describe the ‘external sector of the economy from the point of view of
Macroeconomics.
9. =R FT R AUR °grer A FA1 IR gl
What is the difference between Trade surplus and Trade deficit?
10.95MTd a&] T RO &l 3eeIoT § TI5¢ S|
lllustrate the concept of capital goods with example.
11. ‘3TAIHAT & Gy FIART T 3T FAT FHSIT 52 30T & Tgse Fifau|

What do you understand by ‘double coincidence of wants’? lllustrate with example.




12. gcaifa 39eeT 3R TuUre 39T F 47 3R g

What is the difference between Ex ante consumption and Ex post consumption?
13.\1d5ifeeh g% &1 87 Ig Aol avq ¥ e yeR et §72

What is public goods? How is it different from private goods?
14. AR Aol 8 Fgd 8?2 38 il YR gd &7

What is balance of trade? What are its types?

@s-C &Y 398 9T

Section-C Long answer type questions
frafaf@a & & fhegr i geat & 3W ST
Answer any three from the following questions.

15. farsfaf@a = aRenf¥a fifa-

Define the following terms-

(a) Gohdl uioj\ 3cuiq (Gross domestic product) (b) #eIsrd (Depreciation)
(c) 3usfieFaT a&] (Consumer goods)

16.fF=faf@a 3ot @ =g A @ TG 3T &1 T fifaw]

Calculate National Income by expenditure method from following data.

(#15 T9A H.) (Crore Rupees)

a) ISl 37faer 39T (Private Final Consumption) 500
b) TRT 3fd# =TT (Government Final Expenditure) 50
c) ISt a2 ea3 (Private Investment Expenditure) 50
d) e f@aia (Net Export) 2
e) Yy 39chaT &Y (Net Indirect Tax) (-) 10
f) facat & 9o getr @t 3 (Net factor income from abroad) (-) 50
g) #cTerd (Depreciation)) 20
17.cA1aq1RAF dF 6T IR AW F Foled A 87 ITEAT HITAT|

How do commercial banks create credit? Explain.
18.3TREI3TS & ‘Gell SISIR HRATS wAlic Sl ATEAT HIfT|
Explain ‘Open Market Operations’ policy of RBI.
19.9[0Teh &1 87 9[0Tk AT MPC & TeY &1 sarear Hifae|
What is multiplier? Explain the relationship between Multiplier and the MPC.




SIREs AfeTeh egaYTe Ud FiRIefor qRve, T« (SREs)

Jharkhand Council of Educational Research and Training, Ranchi

(Jharkhand)
gfacia draftes et - 2021-2022
Second Terminal Examination - 2021-2022
ASST gAIT

Model Question Paper

dc-4 (Set-4)
aa-12 fas-3rdemes quiieh-40 qAY-1:30 ©¢
(Class-12) (Sub-Economics) (F.M-40) (Time-1:30 hours)

AT fAder (General Instructions) -

>

el JUrFHT A9 ersal H I |

Examinees are required to answer in their own words as far as practicable.
el Tl T qEdr 19 g

The total number of questions is 19.

9o HEAT 1 @ el HE&AT 7 deh T T 9Ra 81 g1 @ fohedl iy weadl &
3R P dH Th aFT H AT T AS T H AT 2 3k FUiRa 8

Question number 1 to Question number 7 are very short answer type
questions. Answer any five of these questions in at most one sentence. Each
question carries 2 marks.

YR HEAT 8 H W HEAT 14 Teh oI U9 gl SaI# & fehedl 5 Ueadl & 3
HfwdTA 50 real #H AT I IR HI AT 3 3 iR gl

Question number 8 to Question number 14 are short answer type questions.
Answer any five of these questions in at most 50 words. Each question carries
3 marks.

gl TEAT 15 ¥ U2l AT 19 I & 3o 9T &1 54 & fohogl e U=l &
IR HUSIA 100 2real # QTST| Jeds I 1 AT 5 3 iR gl

Question number 15 to Question number 19 are long answer type questions.

Answer any three of these questions in at most 100 words. Each question

carries 5 marks.



@s- A 3fd gl wes
Section-A Very short answer type questions
frafaf@d # & fregl 9ig geat & 3R S|
Answer any five from the following questions.

1. Yolardr 3rdegaedr # 3f¥s W e ganrr fov S 872
In capitalist economy, economic decisions are taken by whom?
2. fafaamr & gienisa Hifew
Define Investment.
3. Hehol B[ 3cU1G (GDP) 3R Hehel TSE 3cute (GNP) & &r e g7
What is the difference between Gross Domestic Product and Gross National
Product?
4. GG ol fohdsh ganr fohar Sirdr g2
By whom is credit creation done?
5. gf¢ @A 39sfer ygid (MPC) &1 AT 1 § o HAT sad 9gid (MPS) &7 Al &1
gm?
If the value of MPC is 1 then what will be the value of MPS?
6. 39cTaT I @ IR HIfAT]
Define indirect tax.
7. Tacelr fHaer & 319 F=2r §Hsd 87

What do you understand by foreign investment?

Ts-B oTERIT 9T

Section-B Short answer type questions.
fAfaf@a & o fregl org weat & 3R ST
Answer any five from the following questions.

8. FAMRE e &T T & IITTEAT & &1F% ‘BH 8136 & guld AU |
Describe the ‘Firm sector’ of the economy from the point of view of macroeconomics.
9. 3% AR $r FenfdhT WRT FHI TIse HIfAT
lllustrate the classical tradition of economic thought.
10.Tsh 30T & TUSC HITGT o °ry 3T\ T HEIEdl alel a&q & dehal &
lllustrate with an example that ‘Tea’ can be both final and intermediate goods.
11, ‘HaT & W & I HeT ol g’ 3§ HUT I FAT dqcdd 572

‘Money is said to be unit of account’. What does this statement mean?




12. gcaTfd fAaer 3R Iurd gy # a1 AR 82

What is the difference between Ex ante Investment and Ex post Investment?
13.TERT Folc & 3663T F faf@u|

Write down the objectives of government budget.
14.73¢2l AR foRely der & @HT AT & fFF JHR gaifad Har g2

How does foreign trade affect the aggregate demand of a country?

Ts-C &g 3O g
Section-C Long answer type questions
fAafaf@a & O Fegl T 9=t & 33/ &fST|

Answer any three from the following questions.

15.fAFAfaf@d @ aReniedg fHifa-
Define the following terms-
(a) ATel G (Inventory) (b) sTTST (Interest) (c) faaer faer (Net Investment)
16.TSET 3T A 1 I Af &1 guiea S|
Explain the expenditure method of measurement of National Income.
1771 T[0Teh &A1 §? SRl FHed ol HERoT Hh gier 872
What is Money Multiplier? How is its value determined?
18.9h & o471 §? S e Hal & il I fohd GhR THIIAT il g2
What is Bank Rate? How does Bank Rate affect money supply?
19.3fg frelt 3rdcaarer & foT 39HNT ol C = 50 + 0.4 Y § o F&@rad fada & 100
F05 T B gafT F FaeeT T ¥ @ A gerr 1 v A

If the consumption function of an economy is C = 50 + 0.4 Y, then calculate the

increment in equilibrium income due to increase in autonomous investment by rupee

100 crore.
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de-5 (Set-5)
aa-12 fas-3rdemes quiieh-40 qAY-1:30 ©¢
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=g fA¢en(General Instructions)-

>

el JUrFHT A9 ersal H I |

Examinees are required to answer in their own words as far as practicable.
el Tl T qEdr 19 g

The total number of questions is 19.

9o HEAT 1 @ el HE&AT 7 deh T T 9Ra 81 g1 @ fohedl iy weadl &
3R P dH Th aFT H AT T AS T H AT 2 3k FUiRa 8

Question number 1 to Question number 7 are very short answer type
questions. Answer any five of these questions in at most one sentence. Each
question carries 2 marks.

YR HEAT 8 H W HEAT 14 Teh oI U9 gl SaI# & fehedl 5 Ueadl & 3
HfwdTA 50 real #H AT I IR HI AT 3 3 iR gl

Question number 8 to Question number 14 are short answer type questions.
Answer any five of these questions in at most 50 words. Each question carries
3 marks.

gl TEAT 15 ¥ U2l AT 19 I & 3o 9T &1 54 & fohogl e U=l &
IR HUSIA 100 2real # QTST| Jeds I 1 AT 5 3 iR gl

Question number 15 to Question number 19 are long answer type questions.

Answer any three of these questions in at most 100 words. Each question

carries 5 marks.



Gs-A A TLRT et
Section-A Very short answer type questions
frafaf@d # & fregl 9ig geat & 3R S|
Answer any five from the following questions.

1. ‘Sokel L 3Th UCIIHT $eWe US Hell' aAHG Y fohaal fordt A2
Who wrote the book named ‘The General Theory of Employment, Interest and
Money’?

2. Al @ A ST g @ 2 aedd g2
What does planned accumulation in inventory mean?

3. HAT dF T AUIRSF s 7 FIg Th IR @]

Write any one difference between Central Bank and Commercial Bank.

4, T 6 gR#AT ST
Define Tax.

5. 3UHIFAT I & 3T FAT FHSA 872
What do you understand by consumer goods?

6. foraer aure @ arom e &2
Who introduced the concept of Investment Multiplier?

7. HAHeT AT §7?

What is devaluation?

Ts-B T IR

Section-B Short answer type questions.
ffaf@a & & gl ara gt & 3@ v
Answer any five from the following questions.

8. fordll ger & 3r¥icuaedr A AR & HfASRT HT IJool@ HITAT|
Describe the role of government in the economy of a country.

9. TATE FMART H 3AF Toic FiA gid 87 I Hiaddld ATHh Toic & hd IdR FHeet
gld 87
Who are the economic agents in macroeconomics? How do they differ from individual
economic agents?

10.Ush 3cTeX0T ¥ TUSC IS o YoleTed aequ Aifeh dhr HRIETHAT S Feral &

lllustrate with an example that capital goods increase the efficiency of workers.




11, HaT & 3eld el 0 aREFaferdt 1 3ecil HIST S Hed I &1 SR HT Hevell o
g AREUTIAT & Hed HIT H Al A FAT HISATG 3cTeel gl 872

Mention three assets other than Money that perform the function of store of value.

What is the difficulty in doing store of value work by these assets?
12. T &2 FT 3YHNT Fedd C = 100 + 0.8 Y | 3T 3UHET el I ITEAT HIfAU]

C =100 + 0.8 Y is the consumption function of a country. Explain this consumption

function.
13.\1d5ifeieh a&3it &1 qfcd TR & @RI & A S g| F4i?
Public goods are supplied only by the government. Why?

14, SUUR Aol # 32T Hl Hl TISC HITSAT|

Describe invisible items of balance of trade.

Tes-C a9 30T g

Section-C Long answer type questions
fArfaf@a # & fhegl i 9=l & 3R dfSv]
Answer any three from the following questions.

15. ASE 3T & dfel JaTg & al &1 Hisel T qredr Hifav|
Explain two sector model of circular flow of national income.

16. T TSEIT T &7 0T H fAeafai@a #Acr &t anfde fhar Smar 82 &R §fav|
(a) gem U (b) PR HHAURT I Yol HF A ST Hod

Whether the following items are included in calculation of national income? Give

reason.
(a) Old age pension (b) Value of free house given to a government employee

17. %1 deF & el &I &Ml &1 Ul AT
Explain any two functions of Central Bank.

18. #iar STAT 3R 3Maftieh AT & e TS HITAT| Al STAT T Hal S & AT HeT STl
g?
Explain the difference between demand deposit and time deposit. Why is demand
deposit called form of money?

19. fAdeaRar &1 fauemsdre & sarear $Hifav|
Explain the ‘Paradox of Thrift’.



JHARKHAND COUNCIL OF EDUCATIONAL RESEARCH AND TRAINING, RANCHI
SECOND TERM EXAM 2021-2022
CLASS XiIl
ENGLISH CORE
MODEL QUESTION PAPER

Time: 1 %2 hours Set-1 Marks:40
General Instructions:
i. Candidates are required to give their answers in their own words as far as practicable.

ii. All the answers must be correctly numbered as in the question paper.

iii. All parts of a question must be written together.

iv. Answers of the questions must be in the context of the instructions give therein.
Section A

Read the passage given below:

Alexander, the son of King Philip, was the ruler of Macedonia in Greece. In the course of his
victories abroad, he thought of conquering India. At the head of a large army, he crossed the river
Indus at Ohind in 327 B.C. After conquering some small kingdoms in the North- West, he
confronted Porus who was the ruler in one of the states in Punjab. In the battle of Hydaspes
(Jhelum) Porus was defeated. Alexander advanced up to Beas when his forces refused to go further.
On his way back, he died at Babylon in 323 B.C.

The Greek authority in north - west India vanished soon after Alexander's death, but the episode
had important consequences. It gave strength to the movement for political unification of India
under a strong central government. It also marked the beginning of continuous contacts between
the two ancient civilizations of India and Greece

Answer any five questions in short. 2x5=10
1. Who was Alexander?

Whom did Alexander defeat and in which battle?

When did he has to go back to Greece?

Where and when did he die?

What were the important consequences of the Greek rule in the north -west India?

Give the opposite of a. defeated b. refused

Make sentences with following words a. son b. kingdom

N oo EEN



Section B
Attempt any two of the following questions in not more than 100 words: 5%2=10

8. You are Rahul /Richa, the Cultural Secretary of M.B. Inter College, Ranchi. You are
going to organize a farewell programme for the students of class 12. Write a notice giving
relevant information to the students about the programme.

9. Lack of job opportunities in the rural areas, is forcing people to migrate to cities. Every
big city thus has a number of slums in it. Life in these slums is miserable. Write a letter to
the Editor of a national newspaper on how we can improve the living conditions in these
slums. You are Meena/Manish, M-114, Main Road, Ranchi.

10.You are Manav /Manisha, the Sports Secretary of your school. Last week a yoga
awareness programme was organized in your school. Write a report on the programme to
be published in your school magazine.

Section C

Attempt any five of the following questions: Write answers in not more than 50 words. 3x5=15

11.Name the poet of the poem "A thing of Beauty”. List the things of beauty mentioned in
the poem.

12. What was the plea of the folk who had put up the roadside stand?

13. Who was Edla? What doubts did she have about the peddler?

14.Who was Raj Kumar Shukla? Why is he described as being 'resolute'?

15.Sophie and Jansie were class- mates and friends. What were the differences between
them that show up in the story?

16.Who is Annan? What advice did he offer Bama?

17.What was Roger Skunk's problem? How was he treated by the other woodland creatures?

Section D
Answer any one of the following questions in not more than 100 words: 5x1=5

18.1In the story "The Rattrap " what made the peddler finally change his ways?
19. What activities did Bama witness on her way back from school?



JHARKHAND COUNCIL OF EDUCATIONAL RESEARCH AND TRAINING, RANCHI
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General Instructions:

s Candidates are required to give their answers in their own words as far as practicable.

il. All the answers must be correctly numbered as in the question paper.

iil. All parts of a question must be written together.

iv. Answers of the questions must be in the context of the instructions give therein.
Section A

Read the following passage carefully:

The watermelon is thought to have originated in Africa's Kalahari Desert. Believe it or not, the
first recorded watermelon harvest is believed to have occurred nearly 5000 years ago in Egypt and
has even been depicted in Egyptian hieroglyphics on the walls of their ancient buildings. The fruit,
which is actually a vegetable, a relative of the cucumber, was often placed in the burial tombs of
kings to provide them nourishment in the afterlife. Today, this fruit has spread to different
countries and can be found on all continents except Antarctica. The watermelon is a healthy, sweet
and refreshing fruit.

Nutritionists have long appreciated the health benefits which the watermelon provides and the
American Heart Association recently recognised watermelon's nutritional properties, giving it the
'heart healthy 'seal of approval. Now research has shed new light on its potential health benefits.
Lycopene, which is an antioxidant that may help reduce the risks of cancer and other diseases, is
present in high concentration in watermelon. A study conducted by researchers at Harvard
University found that men who ate lycopene rich diets of tomatoes and tomato products had lower
risk of developing certain cancers, especially prostate cancer. Apart from lycopene, watermelon is
a good source of Potassium, Vitamin C and Vitamin A. In China, physicians recommended the
fruit to build body fluids, moisten the intestines and decrease thirst. It helps to detoxify the body
and remove excess heat. This in turn, reduces the incidence of cancer sores, kidney and urinary
infection, kidney stones and dysentery.

Naturopathic medicine uses watermelon seeds to relieve urinary pain and to facilitate passage of
urine. The seeds help to soothe the kidney and the bladder, reducing inflammation.



Answer any five of the following questions: 2x5=10

1. When and where did the earliest recorded watermelon harvest take place?

2. Why was watermelon placed in burial chambers?

3. What is the opinion of the American Heart Association about the fruit?

4. What is the role of lycopene in this fruit?

5. What did Harvard University find in watermelon?

6. What medicinal properties of watermelon influenced Chinese physicians to recommend
it?

7. For what are watermelon seeds used?

Section B
Answer any two of the following questions in not more than 100 words: 5%2=10

8. You are Karuna/ Karan, a student of class 12. Last day, during lunch break you misplaced
your note book on chemistry lectures. You want to get it back. Write a notice for the school
notice board.

9. Games and sports are not given as much importance in the country as is given to academics.
Write a letter to the Editor of a national daily on the importance of sports and games and
on the need to create awareness about it. You are Sunita / Sameer of 223/D, Main Road,
Ranchi.

10. Last week on your way to school, you witnessed an incident of chain snatching near your
school. A couple of senior students of your school chased the snatched, caught him and
handed him over to the police. Write a report on this daring act for your school magazine.
You are Amar /Amrita.

Section C
Answer any five of the following questions in not more than 50 words: 3x5=15

11. What did the peasants pay the British landlords as rent? What did the British now want?

12. What gift did the peddler leave for Edla and why was she happy to see it?

13. Did Sophie really meet Danny Casey? Why didn't Sophie want Jansie to know about her

story with Danny?



14. What makes human beings love life in spite of troubles and sufferings, according to the
poet of ‘A Thing of Beauty’?

15. What is the 'childish longing ' the poet refers to in the poem ‘A Roadside Stand’? Why is
it vain?

16. When did Bama first come to know about the social discrimination faced by the people of
her community?

17. What was the basic tale of all the stories told by Jack to his daughter, Jo?

Section D
Answer any one question in not more than 100 words: 5x1=5
18. Why did Derry wish to go back to Mr. Lamb?

19. What were the options that Sophie was dreaming of after school? Why does Jansie
discourage her from having such dreams?
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General Instructions:

L. Candidates are required to give their answers in their own words as far as practicable.

il. All the answers must be correctly numbered as in the question paper.

1il. All parts of a question must be written together.

1v. Answers of the questions must be in the context of the instructions give therein.
Section A

Read the following passage carefully.

Bill believes in achieving his goal through hard work. He also believes that if you are intelligent
and know how to use your intelligence, you can reach your goals and targets. From his early days
Bill was ambitious, competitive and intelligent. These qualities helped him to attain a great
position in the profession he chose. Also, Bill was deemed by his peers and his teachers as the
smartest kid on campus. Bill's parents came to know about their son's intelligence and decided to
enroll him in a private school known for its intense academic environment. That was the most
important decision in the life of Bill Gates, where he was first introduced to computers. Bill Gates
and his friends were very much interested in computers and formed a 'Programmers Group 'in late
1968. Being in this group, they found a new way to apply their computer skills in the University
of Washington. In the next year, they got their first opportunity in Information Sciences Inc in
which they were selected as programmers. Information Sciences Inc agreed to give them royalties
whenever it made money from any of the group's programs. As a result of the business deal signed
with Information Sciences Inc, the group also became a legal business.

Upon graduating from Lakeside School, Bill enrolled in Harvard University in 1973, one of the
best universities in the country. He didn't know what to do so he enrolled his name for pre- law.

Within a year, Bill Gates dropped out of Harvard. Then he formed Microsoft. Microsoft’s vision
is "A computer on every desk and Microsoft software on every computer". Bill is a visionary
person and works very hard to achieve his vision. His belief in high intelligence and hard work has



put him where he is today. He does not believe in mere luck and God's grace, but just hard work
and competitiveness

Answer any five questions in short. 2x5=10
1. What does Bill believe in?
2. Which qualities helped Bill to attain a great position in the profession he chose?
3. What was the most important decision in Bill Gates' life?
4. How did 'Programmers Group' become a legal business?
5. From which school did Bill complete his graduation and in which university did he get

enrolled?
Which company did he form and what is the company's vision?
7. Write the opposite words of a.new  b. hard.

a

Section B
Attempt any two of the following questions in not more than 100 words. 5x2=10

8. You are Dhruv/ Nidhi, Student Editor of your school magazine, ‘The Buds'. Write a notice
to be placed on your school notice board, inviting short stories, articles, poems, etc., from
students of all classes for the school magazine. Give all necessary details.

9. You are Mahesh/Mohita of 345/H, Tribhuvan Nagar, Bokaro. Write a letter to M/s
Anubhavon Sales Corporations complaining about the poor performance of the washing
machine purchased from their showroom, mentioning clearly the specific problem you are
facing and the action you want.

10. You are Ram /Rajni. Write e report to be published in your school magazine on a recent
Book Fair you visited. Write about the stalls of the different publishers that participated in
the fair. Don't forget to mention the cultural shows and other special features of the fair.

Section C
Answer any five of the following questions in not more than 50 words. 3x5=15

11. What image does the poet use to describe the beautiful bounty of the earth?
12. What did the city people complain about in the poem 'A Roadside Stand '?
13. How was the peddler treated at the crofter's cottage?

14. Why did Gandhiji agree to a settlement of 25 percent refund to the farmers?
15. How does Sophie include her brother Geoff in her fantasy of her future?

16. Why did the landlord's man ask Bama's brother on which street he lived?



17. Why does Derry's mother not want him to go back to visit Mr. Lamb?
Section D
Answer any one question in not more than 100 words. 5x1=5

18. How did the Champaran episode bring social change in the lives of peasants?
19. How does Jo want the story to end and why?
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General Instructions:

1. Candidates are required to give their answers in their own words as far as
practicable.
1i. All the answers must be correctly numbered as in the question paper.
1ii. All parts of a question must be written together.
v. Answers of the questions must be in the context of the instructions given therein.
Section A
Read the passage carefully and answer any five from questions 1 to 7. 2x5=10

Gautam Buddha was one of the world's greatest religious teachers. He began life as a prince
named Siddhartha Gautam in northern India. His father was the king of Kapilvastu. At twelve,
he was sent away for schooling in the Hindu sacred scriptures and four years later he returned
home to marry a princess named Yashodhara. They had a son named Rahul and lived for ten
years as befitted royalty. At about the age of twenty-five he left his palace and at once became
a beggar and went out into the world to seek enlightenment concerning the sorrows that he had
witnessed. He wandered for seven years and met with saints, scholars and religious teachers
and finally sat down under a fig tree, where he vowed to stay until enlightenment came.
Enlightened after seven days, he renamed the tree the Bo Tree (Tree of Wisdom) and began to
teach and to share his new understandings. At that point he became known as the Buddha (the
Awakened or the Enlightened). The Buddha preached his first sermon at the city of Banaras,
most holy of the dipping places on the River Ganges; that sermon has been preserved. It reflects
the Buddha's wisdom about one inscrutable kind of suffering.

The Buddha said, "The life of mortals in this world is troubled and brief and combined with
pain". For there is not any means by which those that have been born can avoid dying, after
reaching old age there is death; of such a nature are living beings.

"Not from weeping nor from grieving will anyone obtain peace of mind; on the contrary, his
pain will be greater and his body will suffer. He will make himself sick and pale, yet the dead
are not saved by his lamentation. He who has drawn out the arrow and has become composed
will obtain peace of mind; he who has overcome all sorrow will become free from sorrow, and
be blessed."



el Sl .

Who was Gautam Buddha?

How did he become The Buddha?

Why did he leave his kingdom and at what age?

How long did he wander from place to place?

Who will overcome sorrow and be blessed?

Whom did Gautam marry?

Find out the words from the passage which mean the same as the following:
a. A state of high spiritual knowledge (para — 1)

b. Those bound to die (para — 2)

Section B

Answer any two of the following in not more than 100 words.

10.

Questions (8-10). 5x2 =10

You are Deepak Kumar, Secretary, History Society, D.A.V Dehradun. Write a notice
for the school notice-board inviting names for a trip to Puri.

You are disturbed by loud music played at night. Write a letter to the Editor of Times
of India expressing your feelings.

Write a report on fire accident that you have witnessed.

Section C

Answer any five of the following in not more than 50 words questions (11-17). 3x5=15

11.
12,
13.

14.

13.

16.
'

What are the things of beauty that give joy and happiness to man?

What was the plea of the folk who had put up the roadside stand?

What did the servants at Rajendra Prasad’s house take Gandhi to be? Why was he not
allowed to draw water from the well?

What were the options that Sophie was dreaming? Where was it most likely that the
two girls (Sophie and Jansie) would find work after the schools?

What did the Peddler sell and how did he make the things?

Who was Roger Skunk? What was his main problem?

Who is Mr. Lamb? Why does he have a tin leg?

Section D

Answer any one of the following in not more than 100 words Questions (18-19). 5x1=5

18.

19.

Describe the exploitation of the indigo sharecroppers by English landlords in
Champaran.

How did Bama learn about untouchability and caste system?
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General Instructions:

1. Candidates are required to give their answers in their own words as far as
practicable.
ii. All the answers must be correctly numbered as in the question paper.
1il. All parts of a question must be written together.
1v. Answers of the questions must be in the context of the instructions give therein.
Section A

Read the passage carefully and answer any five from questions 1 to 7.

All human beings deserve equal right to a decent existence and proper development. Most
countries have laws protecting the rights of individuals belonging to any race, religion, sex,
colour or caste and ensuring that they are not discriminated against on those grounds.

Universal respect for human rights is one of the main objectives of the United Nations. The
Universal Declaration of Human Rights was adopted on 10th December. 1948 by the General
Assembly. All the member states are expected to protect the human rights of their citizens. This
Declaration has 30 articles, which include civil, political, economic. social and cultural rights.
For example, right to life, liberty and security of person, freedom of thoughts, religion, peaceful
assembly, right to take part in the government, right to work, education and leisure. The
constitutions of democratic countries include most of these rights. Some civil and political
rights have been guaranteed under our Constitution's Fundamental Rights. The Directive
Principles of State Policy also lists some of the important social and economic rights.

What do all human beings deserve?

What can the laws of country do for its people?

With what purpose was the Universal Declaration of Human Right adopted?

What is the main objective of the United Nations?

What are the rights included in the Declaration?

When was the Universal Declaration of Human Rights adopted and by which body?
Find words in the passage which mean the same as the following:

a. Take care (para-1)

b. Freedom (para-2)

IR & .



Section B
Answer any two of the following questions in not more than 100 words from questions 8-10.

8. You are Narayan/Namrata, the Cultural Secretary of Marwari+2 High School Ranchi.
Write a suitable notice for your school notice board requesting names of the students
for participation in a Cultural Programme to be organised by your school.

9. You are Mukul/Mansi of Zila+2 High School, Ranchi. Corona Vaccination camp was
organised in your school for 15 years to 18 years age group people. Write a report for
your school magazine.

10. You are Mohit/Monika living at C-10, Harmu Housing Colony, Ranchi. Write a letter
to the Editor of ‘Hindustan Times’ about the inadequate and poor city bus services in
the town.

Section C

Answer any five of the following questions in not more than 50 words from questions 11-
17. 3x5=15

11. How much money did the old Crofter has in his pouch? How did he earn that?

12. What was the long-term contract or agreement that English landlords had made with
the sharecroppers of Champaran?

13. Wo was Geoff? What job was he engaged in?

14. Why do the rural people make roadside stand?

15. What is a bower? What kind of sleep does it provide?

16. What types of stories did Jack usually tell his daughter?

17. What advice did Annan offer Bama?

Answer any one of the following Questions in not more than 100 words from questions
18-19. 5x1=35

18. How did Mr. Lamb’s meeting with Derry became a turning point in Derry’s life?
19. Attempt a character sketch of the Crofter. How did he treat the peddler?
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General Instructions:

1. Candidates are required to give their answers in their own words as far as
practicable.
il. All the answers must be correctly numbered as in the question paper.
iil. All parts of a question must be written together.
iv. Answers of the questions must be in the context of the instructions given
therein.
Section A

Read the following passage carefully and answer any three from questions 1-4. 2x3=6

Maharana Pratap ruled over Mewar only for 25 years. However, he
accomplished so much grandeur during his reign that his glory surpassed the boundaries
of countries and time turning him into an immortal personality. He, along with his
kingdom, became a synonym for valour, sacrifice and patriotism. Mewar had been a
leading Rajput kingdom even before Maharana Pratap occupied the throne. Kings of
Mewar, with the cooperation of their nobles and subjects, had established such
traditions in the kingdom, as augmented their magnificence, despite the hurdles of
having a smaller area under their command and less population. There did come a few
thorny occasions when the flag of the kingdom seemed sliding down. Their flag once
again heaved high in the sky, thanks to the gallantry and brilliance of the people of
Mewar.

The destiny of Mewar was good in the sense that barring a few kings, most of the
rulers were competent and patriotic. This glorious tradition of the kingdom almost
continued for 1500 years since its establishment, right from the reign of Bappa Rawal.
In fact, only 60 years before Maharana Pratap, Rana Sanga drove the kingdom to the
pinnacle of fame. His reputation went beyond Rajasthan and reached Delhi. Two
generations before him Rana Kumbha had given a new stature to the kingdom through
victories and development work. During his reign, literature and art also progressed
extraordinarily. Rana himself was inclined towards writing and his works are read with
reverence, even today. The ambience of his kingdom was conducive to the creation of



high quality of work of art and literature. These accomplishments were the outcome of a
longstanding tradition, sustained by several generations.

1) How did Maharana Pratap turn into an immoral personality?

2) What were the difficulties in the way of Mewar?

3) Who was the earliest King of Mewar?

4) What was Rana Kumbha’s contribution to the glory of Mewar?

Read the following poem carefully and answer any two from questions 5-7. 2x2=4

This is the world’s winter
Autumn and summer

Are gone long ago;

Earth is dry to the centre,
But spring rich and strange,
Shall make the winds blow,
Round and round,

Thro and thro

Here and there,

Till the air

And the ground

Shall be filled with life and dew.

5) How is the earth dry to the centre?
6) What will happen when spring comes?
7) What does the poet want to say in this poem?

Section B

Answer any two of the following questions in not more than 100 words. 5x2=10
8) Write an essay on A Great National Leader of India.
9) Write a composition on Child Labour.
10) A multi-stored building caught fire due to short-circuit. As a reporter of ‘The
Hindu’, write a report for publication. Sign as Deepa/Deepak.

Section C
Answer any five of the following questions in about 50 words. 3x5=15
11) What made Tao Ying decide whether to buy a ticket or not when she rode a bus

alone?

12) What makes the difference between the timekeeping of the various clocks? What
is the implicit comparison?

13) What contributes to the beauty and mystery of the swans?

14) What aspects of Indian society and history get highlighted in the poem Blood?



15) What do you understand by ‘Psalteries of Summer’?

16) Did Tao Ying really intend to cheat at the temple? Give reasons to support your

answer.

17) What according to Bergman, is the relationship between a film-maker and his

audience?

Section D
Note: Answer either Group-A or Group-B.
Group-A
Answer any one of the following in not more than100 words.
18) Draw a character sketch of Dr. Pal.

19) Why did Balu run away to Madras.

Group-B

Answer any one of the following questions in not more than 100 words.

20) Why does R.K. Narayan choose a tiger as his hero?
21) Describe Raja’s days as the king of the jungle.

5x1=5

5x1=5
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General Instructions:

1. Candidates are required to give their answers in their own words as far as practicable.
1. All the answers must be correctly numbered as in the question paper.
1ii. All parts of a question must be written together.
1v. Answers of the questions must be in the context of the instructions given therein.
Section A
Read the following passage carefully and answer any three from questions 1-4. 2x3=6

South India is known for its music and for its arts and rich literature. Madras or Chennai
can be called the cultural capital and the soul of Mother India. The city is built low in pleasant
contrast to the ghoulish tall structures of Mumbai and Kolkata. It has vast open spaces and ample
greenery. The majestic spacious Mount Road looks like a river, wide and deep. A stroll on the
Marina beach in the evening with the sea glistening in your face is refreshing. The breeze
soothes the body, it refreshes the mind, sharpens the tongue and brightens the intellect.

One can never feel dull in Chennai. The intellectual and cultural life of the city is something
of the marvel. Every street corner of Chennai has a literary forum, a debating society and music,
dance and dramatic club. The intelligent arguments, the sparkling wit and dashing irony enliven
both the political and the literary meetings. There is a young men’s association which attracts
brilliant speakers and equally brilliant listeners to its meetings. It is a treat to watch the speakers
use their oratorical weapons. Chennai speakers are by and large sweet and urbane, though the
cantankerous, fire-eating variety is quite often witnessed in political campaigning. The urbane
speakers weave the arguments slowly like the unfolding of a leisurely Carnatic raga.

1) What is South India mainly known for?

2) Why is it treat to watch the speaker?

3) How does the breeze on Marina Beach affect the author?
4) What is special about every street corner of Chennai?



Read the poem carefully and answer any two from questions 6-7. 2x2=4

Teach me to listen, Lord

To those nearest me

My family, my friends, my co-workers
Help me to be aware that

No matter what words I hear

The message is,

“Accept the person [ am. Listen-to me.”
Teach me to listen, Lord

To those far from me

The whisper of the hopeless

The plea of the forgotten

The cry of the anguished.

5) Who is the speaker and to whom does he speak?
6) Why does he pray to God as such?
7) What is the central idea that the speaker wants to convey?

Section B
Answer any two of the following questions in not more than 100 words. 5x2=10

8) Write a composition on ‘Impact of Cinema in our Life’.

9) Write an Essay on ‘The India of My Dreams’.

10) As a responsible citizen, you had to start a campaign on ‘Say No to Polythene Bags’ in
your locality. Write a report for your school magazine.

Section C
Answer any five of the following in about 50 words. 3x5=15

11) Why did Tao Ying change her intention to buy another ticket?



12) Were the old lady’s scales a reliable measure of height and weight? What convoluted
logic were her measurements based on?

13) What is the conflict in the poet’s conscience in the poem ‘Blood’?

14) Why is the act of nature described as ‘precise’ in ‘Time and Time Again’?

15) What is the contrast between the liveliness of the swans and human life?

16) How would you explain the image of the ‘Hindered Flags’?

17) What is the simple truth that eludes the philosopher or the scientist?

Section D

Note: Answer either Group A or Group B

Group-A
Answer any one of the following questions in not more than 100 words. 5x1=5

18) How did Margayya try to give his son the best education?
19) How does Margayya become rich?

Group-B
Answer any one of the following questions in not more than 100 words. 5x1=5

20) “A Tiger for Malgudi’ is the story of the friendship between a tiger and a hermit’.
Elaborate.
21) Describe the comic vision of R.K.Narayan in ‘A Tiger for Malgudi’.
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Section A
Read the following passage carefully and answer any three from questions 1-4. 2x3=6

Many of us believe that ‘small’ means ‘insignificant’. We believe that small actions and
choices do not have much impact on our lives. We think that it is only the big things, the big
actions and the big decisions that really count. But when you look at the lives of all great people,
you will see that they built their character through small decisions, small choices and small
actions that they performed every day. They transformed their lives through a step-by-step or
day-by-day approach. They matured and nourished their good habits and chipped away their bad
habits, one step at a time. It was their small day-to-day decisions that added up to make
tremendous difference in the long run. Indeed, in matters of personal growth and character-
building, there is no such thing as an overnight success.

Growth always occurs through a sequential series of stages. There is an organic process
to growth. When we look at children growing up, we can see this process at work: the child first
learns to crawl, then to stand and walk, and finally to run. The same is true in the natural world.
The soil must first be tilled, and then the seed must be sowed. Next, it must be nurtured with
enough water and sunlight, and only then it will grow, bear fruit and finally ripen, and be ready
to eat.

1) What do many of us believe?

2) What is ‘organic process of growth’?

3) What do we learn from the lives of the great people?
4) How does growth occur?



Read the following poem carefully and answer any two from questions 5-7. 2x2=4

On the door step of the temple
under the hot sun

I see her every day.

Her hands and feet are

withered like limbs of the dead tree.
Her eyes tired of searching

“for rays of hope

and sunk deep like cause

in a rock.

Neither they receive light

nor give it.

Her three yard sari

has torn in thirty places

Her body has absorbed

sixty years of dirt

her knotty matted hair

is the abode of worm and lice
Here and there some black teeth
Stand as guards in her open mouth.
The lines on her face

have spread far and deep

like the crow’s feet.

Raising her shaking hands

with hope in her eyes

she looks at me

and an electric current

joins together our two hearts.
Time goes back fifteen years,

her face changes, her eyes twinkle!
When she smiles, her teeth dazzle!
In that one magic moment

I see the image of my dead mother!

5) What does the poet see every day?
6) What does the poet compare the old woman’s hands and feet?
7) What did the poet think when she looked at him?



Section B
Answer any two of the following questions in not more than 100 words. 5x2=10

8) Write an essay on ‘Importance of the Internet’.

9) Write a composition on ‘The Value of Books’.

10) You have witnessed a road accident where there is a loss of three lives. As a press
reporter, write a report for publication. Sign as Rahul/Rashmi.

Section C
Answer any five of the following questions in about 50 words. 5x3=15

11) What was the conflict between Tao Ying and her son in the story, ‘One Centimetre’?

12) Is the poet’s attitude a representation of how the average Indian feels both towards human
violence and nature’s fury? Give reasons to support your view.

13) What makes the depiction of a crumbling village house so authentic in the poem, Blood?

14) How do the ‘trees in their autumn beauty’, ‘dry woodland paths’, ‘October twilight’, “still
sky’ connect to the poet’s own life?

15) What are some of the flaws of the world of film-making today?

16) Give instances from the poem ‘Trees’ that shows that great poetry is a result of close
observation of natural phenomena.

17) What childhood memories does the author recollect in ‘Film-Making’ that had a bearing
on his later involvement with film-making?

Section D

Note: Answer either Group-A or Group-B
Group-A

Attempt any one of the following questions in not more than100 words. 5x1=5

18) Meenakshi is a typical Indian housewife-loving, submissive and practical. Discuss.
19) Attempt a character sketch of Margayya.

Group-B
Attempt any one of the following questions in not more than 100 words. 5x1=5

20) Describe the tiger’s life at the Mempi hills.
21) Discuss R.K. Narayan’s teasing wit and insight into human nature in ‘A Tiger for
Malgudi’.
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Set-4
General Instructions:
I: Candidates are required to give their answers in their own words as far as practicable.
il. All the answers must be correctly numbered as in the question paper.
1. All parts of a question must be written together.
iv. Answers of the questions must be in the context of the instructions given therein.
Section A
Read the following passage carefully and answer any three from questions 1-4. 2x3=6

If you enjoy watching crime shows on TV, you know the finger prints play a major role
in identifying people, but you might be surprised to find out that using fingerprints for
identification is not a new science. In fact, it is very old—dating back at least as far as 1885-1913
B.C.E. in Babylon, when people agreed to a business contract, they passed their fingerprints into
the clay in which the contract was written. Thumbprints have also been found on clay seals from
ancient China.

In 14" century Persia, which is now Iran, a government doctor recognized that all
fingerprints are different. In 1964, a British doctor, Nehemiah Grew, spoke about ridged surfaces
of the fingers. In 1686, a professor of anatomy (the study of the structure of the human body)
named Marcello Malpighi, wrote about the ridges and loops in fingerprints. Malpighi’s work was
considered so important that the layer of skin found on the fingertips was named after him. The
layer of skin is called the Malpighian layer. Although scientist had studied fingerprints, the value
of finger printing in the identification of individuals did not become clear until later.

1) What did people in Babylon do when they agreed to a business contract?
2) Who wrote about fingerprints in1689?

3) How were fingerprints used in the ancient times?

4) What is Malpighian layer?



Read the following poem carefully and answer any two from questions 5-7. 2x2=4

I had a dove, and the sweet dove died,

And I have thought it died of grieving;

O what could it grieve for? Its feet were tied
With a silken thread of my own hand’s weaving:
Sweet little red feet! Why would you die?

Why would you leave me, sweet bird, why?
You liv’d alone on the forest tree

Why, pretty thing, could you not live with me?

I kidd’d you oft, and gave you white peas

Why not live sweetly as in the green trees?

5) For what is the bird grieving?
6) What did the dove die of?
7) How did the poet satisfy the need of the bird?

Section B

Answer any two of the following questions in not more than 100 words. 5x2=10

8) Write an essay on ‘The Game I Like Most’.

9) Write about ‘The Joys of Reading’.

10) Recently your school/college celebrated ‘Youth Day’. Write a report for the school
magazine describing about it.

Section C
Answer any five of the following questions in about 50 words. 3x5=15

11) Why does her final vindication important to Tao Ying?

12) Which art form is film-making closest to? What is the reason for the similarity?

13) What did you think the poem ‘Time and Time Again’ was about when you read the
first few lines?

14) What aspects of Indian society and history get highlighted in the poem, Blood?

15) What do you understand by ‘Psalteries of Summer’?

16) How did Tao Ying’s son influence the way she led her life?

17) What, according to Bergman, is the relationship between a film-maker and his
audience?



Section D
Note: Answer either Group—A or Group-B

Group-A

Answer any one of the following questions in not more than 100 words.

18) Margayya himself was the cause of the ruin. Do you agree? Give reasons.

19) Who is Madan Lal and how does he help Margayya in his business?
Group-B

Answer any one of the following questions in not more than 100 words.

20) Describe Raja’s experience of the human world.
21) Describe the tiger’s life in the captivity as a circus star.

5x1=5

5x1=5



JHARKHAND COUNCIL OF EDUCATIONAL RESEARCH AND TRAINING, RANCHI

SECOND TERM EXAM 2021-2022
CLASS XII
ELECTIVE ENGLISH
MODEL QUESTION PAPER
Time:1 2 Hrs set 5 Marks:40

General Instructions:

1. Candidates are required to give their answers in their own words as far as
practicable.
11. All the answers must be correctly numbered as in the question paper.
iil. All parts of a question must be written together.
iv. Answers of the questions must be in the context of the instructions given therein.
Section A

Read carefully the passage given below and answer any three from questions 1to 4.  2x3=6

The founder of the Sikh religion, Guru Nanak was born to a simple Hindu family on April 15,
1469 in Talwandi in Punjab. His father Mehta Kalian Das was an accountant in the employment
of the local Muslim authorities. From an early age Guru Nanak made friends with both Hindu
and Muslim children and was very inquisitive about the meaning of life He was schooled in
Hindi, Mathematics and the study of Muslim literature and learned Persian and Arabic. He was
an unusually gifted child and often questioned his teachers. At the age of 13 Guru Nanak
refused to accept the sacred thread from the Hindu Priest at the ceremony attended by family
and friends. At the age of 16 he was married to Sulakshani, daughter of a pious merchant and
eventually had two sons Sri Chand and Lakshmi Chand. He took up a job as an accountant in
charge of the stores of the Muslim Governor. Guru Nanak would work during the days, but
early in the mornings and late at nights, he would meditate and sing hymns.

1. Who was the founder of Sikh religion and where was he born?
2. Who was Guru Nanak's father and what was his occupation?
3. What, at the age of 13 Guru Nanak refused to accept?

4. What did Guru Nanak do in the early mornings and late at nights?

Read the following poem carefully and answer any two from 5 to 7. 2x2=4
If ever I travel to France or Spain,
I mean to go in an aeroplane.

I've read all about it, and now I know



How they swing the propeller, and off you
go!
A run and a bounce, and you're looking
down
From high in the sky on a little toy town;
And the field like a bedspread, green and
brown.
With ribbony roads, all winding through,
So empty and quiet, it hardly seems true.
That anyone's there looking up to see
You racing along, like a big letter T,
Through the clouds and into the light,
Smaller and smaller, and out of sight.
And the aeroplane climbs and dips and
Swings
While loudly and proudly the engine sings,
And the pilot sits in his cockpit there

With the wireless to bring him the news on

the air.

5. How and where does the poet want to travel?

6. How does the ground look from the aeroplane?

7. What does the pilot of the aeroplane do?

Section B

Answer any two of the following questions in not more than 100 words. 5x2=10

8. Besides bringing foreign exchange, tourism promotes nationalism and
internationalism. Write an essay on “Importance of Tourism”.

9. Write an essay on “Your Favourite Political Leader”.

10. As the staff reporter of ‘Hindustan Times’ (daily newspaper) who witnessed a fire
accident in Big Bazaar, Ranchi. Write a report for publication in the paper.

Section C

Answer any five of the following about 50 words.

3x5=15

11. Mention some of the risks that film-making involves.
12. What is the difference between animate things and inanimate?



13. Why is the act of nature described as ‘precise’ in the poem ‘Time and Time
Again’?

14. What was the conflict between the mother and son in the story, ‘One Centimetre’?

15. What contributes to the beauty and mystery of the swans’ lives?

16. Referring to the poem “Trees”, where is the bird sitting? Why is the bird careless?

17. How does the poetess Kamala Das explain her childhood in the poem “Blood”?

Section D
Note: answer either Group A or Group B
Group A

Answer any one of the following questions in mot more than 100 words. 5x1=5

18. The Financial Expert is the story of the rise and fall of Margayya. Discuss.
19. Attempt a character sketch of Balu.

Group B
Answer any one of the following questions in not more than 100 words. ~ 5x1=5

20. What are the flaws of Tiger in “A Tiger for Malgudi”?
21. What kind of trainer was the captain?



SRS AeTeh ITHTT T TiIEToT R, = (FIRES)
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afadrg draftres qdiet : 2021-2022

Second Terminal Examination: 2021-2022

HAlsel JT-97
Model Question-paper
dc-1 (Set- 1)
gdr - 12 [EAREECIC] quiieh - 35 | §HT — 1 ©er 30 fHAeIe]|
(F.M - 35) .
(Class -12) (Sub - Geography) (Time -1hour 30
minutes)
AT fAder- (General Instruction)
> et JATHHT 379+ QUeal H I S|
Examinee write answer in their own words as far as practicable.
> ol Ueal T 6T 19 B

The total number of questions is 19
SR HET 1 @ R HEFT 7 Teh 31T o] 3T 9= 8 | So78 H ool 91y 9eal oh 3o Ueh ATy
#H ATST| Tcdeh 99eT &1 AT 1 37 AuiRa Bl

Question 1 to Question 7 are very short answer type questions. Answer any five of
thesequestions in one sentence. Each question carries 1 mark.

TIRe HEAT 8 W TR HEIT 14 deh ol 3T 2T 8| ST A fohagl 5 IeaAl o 3R KA 50
grsal H ST | Tcdah TR T AT 3 37 FaiRT &

Question 8 to Question 14 are short answer type questions. Answer any five of these
questions in at most 50 words. Each question carries 3 marks.

YT TEAT 15 T YT TEAT 19 deh a1e 34T WA &1 S48 & fohegl died & & 3K 31Tehds
100 2rea] H EIfAT| Tcdeh W &l AT 5 37 AuiRT gl

Question 15 to Question 19 are long answer type questions. Answer any Three of
these questions in at most 100 words. Each question carries 5 marks.



1.STTHEAT Heled ¥ 31T T §HASIA & ?

What do you understand by population density ?

2. STTEEIT 9aTH I 3T9ehT FIT dIcqd 87

What do you mean by population migration ?
3.8 shifd AT & ?

What is green revolution ?
43761 J&N0T A g1t arel fohegr a1 et & a1 fordd |
Write the name any two diseases caused by water pollution.
5.3TeT HHR Jatlel & g af 3662 faf@v|

Write one objective of watershed management.
6.4Tfcadh Tfetet &l &l 3aTeX 0T ford |

Write two examples of metallic minerals.
7. JTUR ST AT ?
What is basic industry ?
8.5TeT JGNUT I Neh2ATH & fIT HgcaqoT gaira &

Give important suggestions for the prevention of water pollution.

9.8l H G YRAGeT I IRageT oh 3 ATEMAT ehl JolelT & 37T IUGNI T HIAT STl & ?

Why is road transport considered more useful than other modes of transport in India ?
10. 3R o TR TR TAFAHATOT 3erer hY Feffepet HIfTT]|
Classify manufacturing industry on the basis of size.

11. INIIRTSTT FaiT Hiat &7 guie HIfAT|

Describe non - conventional energy sources.



12. TNT STl TIETOT AT § ? 3 IR 36637 ISy |
What is rain water conservation ? Give its four objectives.
13. R & HN T GHG TATIT3H T G0 HIFST|

Describe the major problems of agriculture in India.

14, STTTEEIT AT T FHITIT e dTel 319y sheh! &l faf@u]

Write the factors affecting population migration.

15. XA H TAGEIT [IdAOT Tedcd I THITIT et dTel Thoal 9Td hRehl ehl SITET HITIT |

Explain any five factors affecting the population distribution density in India.
16. X H NG & 3cUTee Td fAR0T 1 qofed RS

Describe the production and distribution of wheat in India.
17. #&T Y&N0T & 319 AT HHSIA § ? Hal YgN0T & SHRUT &l g

What do you understand by soil pollution ? Write the causes of soil pollution.

18.351eT T IATEUTA Sl THTTAT et aTel ShIRehl hl ITEAT Y |

Explain the factors affecting the location of the Industry.

19. ST 91T HRT & AT & ITUR W 801 T 31T <Iiad Ifa T97 fohdAT. STAHEAT Usled drel T3 &
AT ford.

Based on the given map of India, Write the names of states having 801 and above persons per
sq.km. population density
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AlSS IA-07
Model Question-paper

de-2 (Set- 2)

- 12 faw g - spemer
(Class -12) (Sub - Geography)

quiieh - 35
(F.M - 35)

THAT — 1 geT 30 fAsc|

(Time -1hour 30
minutes)

AT fA&er- (General Instruction)

> qreTt TUTEHT 319e 2reet H 3T &

Examinee write answer in their own words as far as practicable.

> gn—erl;rzaﬁaﬁrmwﬁl

The total number of questions is 19
> URET HEAT 1 @ U HEAT 7 oeh 3Tl o 3T TR &1 goial & ool dier
LT o 30X Ush aTdg H SIS0 | Tcdah W T Al 1 37 aTRA g1

Question 1 to Question 7 are very short answer type questions.
Answer any five of thesequestions in one sentence. Each question

carries 1 mark.

> U TEAT 8 I HEAT 14 T oY 3T T ¢ 3T H ool 5 TRAT
3R 31TRhcraT 50 rsel # ISV | Fedeh T &1 HleT 3 37eh e &

Question 8 to Question 14 are short answer type questions. Answer
any five of these questions in at most 50 words. Each question

carries 3 marks.

> U2 HEAT 15 { A TEAT 19 deh &8 3a1T WA & | 316 & fohegl it TRaAt
% 3T 3TTHAH 100 AT H ETAT| TcAh YT &7 AT 5 37 AR B

> Question 15 to Question 19 are long answer type questions. Answer
any Three of these questions in at most 100 words. Each question

carries 5 marks.




1. &qToY TGNOT & JATTehT T AT &2
What do you mean by noise pollution?
2. TSTHATIY (AGTHTST) FAT 82
What are Highways ?

3. Ugl A 3¢ARTFATE ?

What is petrochemical industry
4.7 TS it TR 2

Why is Mumbai High famous
5. 3[H Y I 39 FIT HASIA 6 ?

What do you understand by Jhum Agricultur?
6. 'IATH' 2TG, | YT AT dlcu g ?
What do you mean by the word 'Migration'?
7. SToTEEAT ge e & a7 T g ?
What is meant by population growth ?
8. AAGEIT YaTH &l THTTAd el dTel Ty ent &l [ f@T|
Write the push factors affecting population migration.
0. TR 1Ry 2B bt ey a7 Ryt by ol
Write any five features of Indian Agriculture ?
10. $TRA & F&TS F31 31927 § ? FIS el HRUT TIse HIfAT|
Why is irrigation necessary in India ? Explain any three reasons.
11. olig 31IEH & YhRI &l guTe HITST|
Describe the types of Iron Ore.)
12. HER TG o 3l # it - cfiet 3R TI€ RIS
Explain three differences between Cottage Industry and Small Scale Industry.
13. GATAOT JGNUT T § ? TGNUT & TehX ol Tord |
What is environmental pollution ? Write the type of pollution.
14. 3YIIE TR FAT g ? 3UIE JIR & 197 91T |

What is satellite communication ? Explain the advantage of satellite
communication.

15. AT JGNUT o BT AT § ? SHT A il I FIT FTT IS g ?

What are the source of air pollution ? How does it affect human life?




16. AR H STATEIT & GHATA TIdT & SHRUT T JUTT ShITIT |

Describe the causes of unequal distribution of population in India.

17. 9Rag U9 TR VG134 & AGcd ol &R & JuTe hifa|

Explain in detail the Importance of transport and communication services.

18. TR Y T FARATAT3 ! FaEaR qaieh ford |

Write in detail the features of Indian agriculture.

19. IRT & AT & Aafaf@asreaise:

Show the following on the map of India:
(&) STRAT (Jhariya)

(@) deldX (Talcher)

(3T) AT (Naveli)

(&) ShIET (Korba)

(3.) RIS (Singrauli)






SIRGS QAfaTeh 3eTHTST Td TTRIETUT TRYS, U (FIRTES)

(Jharkhand Council of Educational Research and Training, Ranchi

(Jharkhand)
alad draftiss odiaT : 2021-2022
Second Terminal Examination: 2021-2022
HAlSol 9e1-97
Model Question-paper

Te-3 (Set- 3)

I -
(Class -12) | (Sub - Geography) | (F.M - 35) | (Time -T1hour 30

12 fawr - sqaier quiies - 35 | §HI - 1 €eT 30 fAee|

minutes)

ATATT fA&er- (General Instruction)

>

>

gdeeff TUTEeTT 379+ ereer A 3 |

Examinee write answer in their own words as far as practicable.

el Uil o HEAr 19 8

The total number of questions is 19

TReT HEAT 1 | 9T HEAT 7 deh 31Tl o7 3T 92 &1 $o131 A Fohogl i 92t o
I U I H QfAT| Tedeh UReT & Al 1 37 AR g

Question 1 to Question 7 are very short answer type questions. Answer
any five of thesequestions in one sentence. Each question carries 1
mark.

YReT HEAT 8 W T HEAT 14 Teh oY 3T U9 8| SoTH & fehoel 5 URaAT &b 3w
31ae 50 ersal & SITSIT| Tl YR T AT 3 37 eI B

Question 8 to Question 14 are short answer type questions. Answer any
five of these questions in at most 50 words. Each question carries 3
marks.

TR TEAT 15 { YA TEAT 19 ek &Y 31T U &1 545 & fohegr it weait &
3R TS AH 100 ersel H EITAT| YA 9 &7 AT 5 37k TUTRA &1

Question 15 to Question 19 are long answer type questions. Answer any
Three of these questions in at most 100 words. Each question carries 5
marks.



1 uRage #r TRETR HY|

Define transport.

2. STAEET Usdcd &l GRATNg Y|

Define density of populaion.

3. d1¢ FAT &
What is flood.

4. ATeTd JaTH 8 379 T FASIA o |
What do you understand by human migration.

5. T BT FAT G|
What is kharif crop.

6.TTERAT F T THSTA 2 |
What do you mean by Literacy.

7. Fafoa =TqslsT @ 39 41 FASA &
What do you mean by Golden Quadrilateral.
8. ORI Fal Adl &l gutel |

Describe the sources of traditional energy.

9.9TRcl # Y shr JoE AT T qUTeT |

Describe the main problems of agriculture in India.



10.9919 & YROTAT T gUTeT |

Describe the result of migration.

11.9g3ea T IRATSHAT & F41 FASA &

What do you mean by multipurpose project.

12. YT IRAge i [AfReeT GHATITIN ST JUTT H |

Describe the various problems of Rail transport.

13. Tl &21 & ATk Tashra A SieT SEUTT 3GHIT T T FAged o7

What is the importance of iron and steel industry in the industrial
development of any country?

14. YCNUT U4 YV & a1 3 T |

What is difference between pollution and pollutant.

15. STel JENOT ol IR Y | STeT TGNOT & YHE HReh FT ¢ |

Define water pollution. What are the important causes of water pollution.

16. IR H HITT & 3c9IG U [ddoT &l quTe FHifav]

Describe the production and distribution of coal in India.

17. IR A STTHEAT facR0T T THIAT el aTel JHE HRehT T faaeer |

Descuss the most important factors influencing the distribution of
population in the world.

18. T 3cdTeat & [T 3fejeher $itanToleh aRm3it Ud faeRoT &7 qouiel Y|

Describe the favourable geographical condition and distribution for Tea
production.



19.[F=fafaa Afear o 9RT & AT W Wifhd HIfAT.

Sketch the following river on the map of thelndia

(&) 58T ( Narmada )
(@) Meradr ( Godawari)
(3T) 37917 ( Ganga )

(51) 1A (kaveri )

(3) HgIAAT ( Mahandi )




SIRGS QAfaTeh 3eTHTST Td TTRIETUT TRYS, U (FIRTES)

(Jharkhand Council of Educational Research and Training, Ranchi

(Jharkhand)
alad draftiss odiaT : 2021-2022
Second Terminal Examination: 2021-2022
HAlSol 9e1-97
Model Question-paper

dc-4 (Set- 4)

I -
(Class -12) | (Sub - Geography) | (F.M - 35) | (Time -T1hour 30

12 fa g -spemer quiies - 35 | §HA — 1 €130 fA=<|

minutes)

ATATT fA&er- (General Instruction)

>

>

gdeeff TUTEeTT 379+ ereer A 3 |

Examinee write answer in their own words as far as practicable.

el Uil o HEAr 19 8

The total number of questions is 19

TReT HEAT 1 | 9T HEAT 7 deh 31Tl o7 3T 92 &1 $o131 A Fohogl i 92t o
I U I H QfAT| Tedeh UReT & Al 1 37 AR g

Question 1 to Question 7 are very short answer type questions. Answer
any five of thesequestions in one sentence. Each question carries 1
mark.

YReT HEAT 8 W T HEAT 14 Teh oY 3T U9 8| SoTH & fehoel 5 URaAT &b 3w
31ae 50 ersal & SITSIT| Tl YR T AT 3 37 eI B

Question 8 to Question 14 are short answer type questions. Answer any
five of these questions in at most 50 words. Each question carries 3
marks.

TR TEAT 15 { YA TEAT 19 ek &Y 31T U &1 545 & fohegr it weait &
3R TS AH 100 ersel H EITAT| YA 9 &7 AT 5 37k TUTRA &1

Question 15 to Question 19 are long answer type questions. Answer any
Three of these questions in at most 100 words. Each question carries 5
marks.



1.forarregare st aRermSdT Y |

Define sex ratio.

2.3l HET & 3T 41 JHSTd & ?

What do you understand by energy resources?

3.9590T &l AR HfST |

Define pollution.

4 facre wad fRa Fga g ?
What is an oilseed crop?

5.3790 R 7T FAT BT BT g ?

Why is the ozone layer depleting ?

6.5cic FqT & ?

what is Internet ?

7.9% - I FIHH FAT§ ?

What is Neeru Meeru Program?

8.9T8YeTSe GRage o 0T 3R IV ferdd |

Write the merits and demerits of pipeline transport.

9.3 YURIETT FalT Jrdl Al JUTeT |

Describe non - conventional energy resources.



10.8TRd & 31fReholel HEIT g fer & FAT FROT§ ?

(What are the reason for the high population growth in India?)

11.37:SMT Jarq AT IRTSET 9ard 7 3R o |

Write the difference between Inland migration and International migration.

12. &ed HTel & TR 9T 36T &1 F3H1eh0T HiTaiT|

Classify industry on the basis of raw materials.

13. ¢ilg U9 37ellg Wilat # 37807 o H1Y 3 FISC Y |
Explain the difference between ferrous and non - ferrous minerals with
examples.

149518 STl & 3T @ Sl191 I AT 1T IS & 2

What are the effects of using polluted water on people

15. TTdel 3cUTeeT o felT 3eJepel HlaNToieh g3 Ud faaRor &r autel & |

Describe the favourable Geographical condition and distribution for Rice
production.

16. INT STeT TAGOT | 3T FIAT FHASTT &2 ANT STol TAGUT o T T3e=T 3UTAT T
quTel & |

What do you understand by rain water harvesting? Describe the various
methods of rainwater harvesting?

17. 3T T IATEATA T FHTTAA el dTel S ST IGTEIUT Higd cIr&dT
.

Explain with examples the factors affecting the location of industries.



18. 3R # IR o fahrH o HROT 3cTeT U TATIRUNT FATIT3N b TR H
ford |

Write about the environmental problems that have arisen due to the
development of cities in India.

19.AFATET &l IRA & AATRIT W SABU :

Show the following on the map of the India:

(&) faem@raasteT (Vishakhapatnam)
(@) I3ha (Raurkela)

(1) STHJACYR  (jamshedpur)

(

(

&) 1Y (Durgapur)
g) @eld (Salem).
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Model Question-paper

de-5 (Set- 5)

qar - 12 [CARE U] quiteh - 35 | AT — 1 €T30 fAee|

(Class

-12) | (Sub - Geography) | (F.M - 35) | (Time -1hour 30

minutes)

AT fA&er- (General Instruction)

>

>

odeTeif TATESS 379t ersel A IR S|

Examinee write answer in their own words as far as practicable.
el TRaAT T HEAT 19 £

The total number of questions is 19

e HEAT 1 & TR HEAT 7 oeh 3Tl o 3T URe &1 goia & fohogl dier
TRall oh 3a% Ueh dTehd H GITSTT | Tcdeh el &l AT 1 3 UTRAT &1

Question 1 to Question 7 are very short answer type questions.
Answer any five of thesequestions in one sentence. Each question
carries 1 mark.

TIReT HEAT 8 / Re HEAT 14 deh oY 3T TR 8| 317 & fohogl 5 Il &
3R 37ThdH 50 Tal H SITSTT| Tcdeh U T AT 3 37k TR g

Question 8 to Question 14 are short answer type questions. Answer
any five of these questions in at most 50 words. Each question
carries 3 marks.

T TEAT 15 T TT TEAT 19 doh GIYT 3aAT U g | ST T Tohegl cilel TaAT
o 3T TSI 100 2Usei H ITAT| YA U &7 AT 5 37 TUTRA &1

Question 15 to Question 19 are long answer type questions. Answer

any Three of these questions in at most 100 words. Each question
carries 5 marks.




LART H S0l e I gReT g37 2

What year census started in India ?

2. TR Y A 37 FA1 FHSIAE ?

What do you understand from mixed agriculture?

3. STAHEAT H TC A HRA F IYA 3 FTH I3 TSI hlA T § ?
Which of the first 3 largest state of India is in the sight of population?
4. Tl & 9T 9T Yery & A ferg?

Write the name of the two major beverages ?

5. eTfcdeh Wiarel fha hga & ?

What are metallic minerals called ?

6. ITRTSEIT TaTd T aReTRT & 2

Define International Migration?

7. FTeil THeer Fr fadvar Farg 2

What is the specialty of black clay

8. &dfel YUl & 3119 FIT FHSIA € | $8h UHYH & U iV ?

What do you understand from sound pollution? State the measures for its
prevention.

9. STAHEAT AR & clie] JHE Eehi & oATH ford |
Write the names of three major components of population change ?

10. {RA H 3YIE JUTToN & Hecd hl JUTeT hi |

Describe the importance of satellite system in India ?



11. ITgeT ﬁaﬁgagﬁraﬁr%amﬁwaoﬁamﬁ eTecl H &Y | Describe the

characteristics of intensive discharge agriculture in their own words?

12. TS URAE Il TR T Joioll # o TR oA & |
How is road transport easier than rail transport ?

13. BT 379TRISE GaRT §lel dTel TATAUT TGO IR =T STel ?

Give explanation on environmental pollution by solid waste ?

14. HRA H ST Y I TGTaT &t o 3UTT FATC|
Tell the measures to promote dairy agriculture in India?

15. YdTH ! THTTAA el dTel SHIEhT T JUTT FH?
Describe the factors affecting the migration?

16. HRd H Il WisTol o HI&TUT I 3MTGehcT FAT 5 |
Why is the need for the protection of coal minerals in India
17. oA eI AR FcG T H 3R TIC |

Explain the difference between birth rate and death rate ?

18. Aled TALY X gl el STel YGNUT & T ol JuTel &Y ?

Describe the impact of water pollution on human health ?

19.fFATATEd Flr a&T 3G g Sl AR o HAlATIT I G2MST

Markthefollowing cotton textile centre on map of India?

() FFSS (Mumbai)

(&) gHCTSTE (Ahmadabad)
(1) ST (Kanpur)

(&) FT (Surat)

(3.) SPrelTdT(Kolkata)






sR@vs dftrw g va gfleror aReg e (FREvs)
gfadr wrafas adiam (2021-2022)
gfagsr v 9o de- 01

HaT- 12 Rva- B (#FR) HAT- 1 Her 30 RAee quiih- 40

o

AAT fA&er-:

> qdtemreft TuTEsE rge & sl F 3w &

> B9 WU & @S ¢ | Y @3 & weaAl FT 36¢ T FfAard gl
> w8l geT & AT iR 3% 39 a@a 39ia & 3ifea B

> WAl & 3w 39S a1y R Adat & e 7 @ oW |

s - ‘®
(3rafea aen)
01. FFFalai@d 9eier &l gl I8 I W&l & 3¢ fofEe 02+02+02= 06

ATETG hl el T,

e W@ g STol-2el H,

3afer 3R 3R da A

qofeh Wehe Sl & X,

eRa quit @1 i @,

AR A W & % o,

HAS oo & il dl
(3F) TR 3R 3mepTer T AT Hieed fe@ar 82
(T) T AT T Tael [0l gl HIET = @l 87
(1) Sfadr Fr g¥H dfFd H HlI-AT IFRR 8?2

AYar

fAFfaf@d eZier I geh & I yeal & 3R @




BH 39 Shae # FE-THGY =gd 8, A, A 3R A =@mgd €, g I et g sl
el 9Tl & S & o1l Uil o oIt TR Tcetelel a0 Tl & 39 §HT & Uadh Ush &70T-
P TEHT AT IHHT HGUAT Y TAT TR IS T | g T3 FHT oM, 51 §H
I AT A T@E AAe 3R e & o, Fife a7 @iffd § 3R & & fow &
eI &1 ST 1A HTERTehdr 3 Aged & TS @ Ggel T Al o, 3eo IATHSAT &l =TI
e @ o @l AT B Fheldgds qU Fa & AU 3resT ey 3R gad sconifEd
gleil TR

(@) Sl # G@-HHCTT HF TIed & ST Fehell 872
(@) AT F1 AT 3R RIS FIAT FAT 3TaTH 82
(a1) 39 e HT 3uPFd M fofEe?
s - @
(FfFeaf@a 3k Areaw qur WECAS dEd)

02. TAFATAT@T A @ el &I veadl & 3R QST - 05+05=10
() FAMER 9 YT ‘Gquor R T fAse fafge)
(@) 3= &7 F FEoRT & §od YT I Julel Rt gU TRl ek FATR 9 &
quee FI 97 faf@u|
@M 3 &7 #F AT aw-aws & v 6T gwgited @ o1 @)
(4) THAER & & 3T FAT THSIT g7 SThT Plel-hied-AT fFATaAre g2

s - T (ISAYETF)

03. Afaf@ad & O fFdY v &1 Feg-dicy Af@T- 05

(F) o Fel, aUd Fal, YT Fgl, SAlelel Fal HIF|
1g T 9 A 9T o SUTE, g H S RS o A5
ol TEATH o] § TH I, SThl T A g HY 35|
HITT & W, AR HT Hgal, Al A TF o TR A3

(@)  3rearfere 78 g T
Ide - HdT



HeT deh O g gIel
STel-facera-celrast

&5 Tpee-sterel W
el Telhdl 7R
JT-2Nes # o gHar &
AT FT FHAR WK

04. fAFTfaf@ad & ¥ foregl a weal & 3T &fAv - 03+03= 06

(F) TAccaxa & oI & & M uid 9fFa # Aceaa § 31 arcad g2
(@) FIEal & HEHT @ YHid A giovarel fret-fohet aRacal sl ‘Sreer @r wiad

G@ifehd Hcl 872

(31) AMhIEA ATEIT H AT & HTROT I HEUT I & s dR T &I 3T FaT
gl 91T 872

05. TAFafaf@d # & fregl a1 veal & 3R QfSv - 03+03= 06

() AT T ARCT FEHTA H FIT Hged 82

(@) alla # HGARY Helel 3R 39T St & Sgid & FTasle oJccel Ugeldisl alel &t
SISITdT T8T?

(31) STA-TAT T HHT-TAHTSTT HT & Th T o FAAS & NS 3i0sH F FAT dh 87

06.9TeT Hes $fIFRTT 35 37U BofRaT=Ary 0T I fohegl 2l Tt & e faf@e) 02
07. 'S[&T Felel & fer & 3iifaey 9T gehrer sifev] 03
3y,
UeT theh o 379el ST A iRl 1 Ul & faww & faurt & sifdcafed s & g2
08. ‘S[gT’ 9IS & 3MUN TR ISy o or@eh fohel-fohet HTEET &l IUGET Sidal o@el F Il

e? 02
argar
AT S FheT o2 3T s ey ¥



sREvs dMftre g vd gferor afiwg A (FIREvS)
gl wafas afiam (2021-2022)
gfagel geal o

de- 02

FaT- 12

Rva- B (FR)

¥AY- 1 "er 30 fAdc

quiieh- 40

a

AT fAder-:

> gt gy et @ sur-del F 3 &
> H YA-9 & el @3 § | WY @3 & yeAl &1 I o HAad
> ol v & AT Ui 3% 39 Fa 399 & 3ifha B
> WAl & 3W 39S a1y Ru At & mes 7 € g |

s - ‘& (ufsa ae)

01. fAFIfT@d qeaer &t gga feU T et & 3¢ faf@v|

T 7 g @l B
A v 3Rl e, e few ua & S
TET g TR JE d¢ W URST Sier &

B A gordel Bl &...
o, 98 3TS 3 Frell, TH-9Y T HcHaAdTel
el am W& oA St o Tdr ofA o A g
e 7 g @l B
Teh-gel HoT a3t H, 3P qadeR delt 7
TehTehT ATfaeh T siter 3ifaer gt aidr &1

T F g @l B

(F) TR H goTad gt T FAT R &2
(T) PIHA el ST glh ERAT T FT IST 872
(1) THA de W oA 7T §F T @ @ R

AYar

01. fF=Afaf@d egrer @I qga 4T a1T weat & 3 AT

02+02+02=06




UG-CAIGR =M I HHATSIh Tehell o Heiieh, WdgTT@er aeasit & amefl, Frepide U= &
wedl AR FEHTa=3T & IRk gld 81 e, Sarell, glell, AIHsor SATseH, Taiee,
fraed, 3¢ 3fe gR 0 leR &, 98 s8R amfoie Siiael & o127 3cHIg-31a9T 31 Srdm
g1 gren-drarell W i3 I AaAE 3R TS YAYES TS o §, TER THGE & Ay
Ao 3R IUERT T IMETveT #d &, 38T YR 3¢ AN fhaaa w g 39 FaeAeT
3R aTS HTSAl & YT YHPHATY Jehe A ¢ TH TR o GI-cAIGRI T HIT HILTH
HHAAE & YeX &9 few@rs &ar gl

() 99-eRT & g2r A7 fohet a1l 1 IRN=T Aaar 82
(@) AR vd-cAeRt W faffiest aadt & @er vaw-gay & 9fd 3rdel desraasit &
(31) 3E I FT 39YeFa M faf@w?

s - ‘@ (IFafFa i Areaw)
02. AFfaf@d & & foregl & Al & 3 fIT - 05+05=10
() ‘FRES & FEHfA YT FRAT § F9@ 97 W v ey @]
(@) Taegd Y #3191 &F H degrel I 3N Tod TIHR I Al JHHFST el
g Rl TAER 99 & Hles F Tk 79 faf@ul
(M) 39 & F Taeodr A & JUR J@R & v 6T el # vk g9
ford|
(&) TR 8 Fed 2 IHRRAT & THRi & fAf@w)

s - T (ISAYEAF)
03. A=@T & @ & v F1 Freg-dled [Af@u- 05

(F) R § FHR-APR W
IR @ W g@ H o1
ST & GIY TI W
Az favera i cenfaa &mw

(@) 3T # fav Al & Ths B @



BTl O STeC 8 38 aMe-ery
W@-T8 & gal & S ofer &t &
3ot 3odt & af@erd = & g4

04. fAFIfaf@a & @ foregl ar 9ear & 3¢ dIfav - 03+03= 06

() d1eaT H Hid foRrem F ‘[eaa & I qur Shad F IRER 5T Tei7 7 w1 g2
(@) TH & A §C eI H [T & Hle-dhled F IR AR T2
(31) TR & ITeTel & YR TR T3 b o &l Wel Tioel ¥ F37 3R g2

05. faeIfaf@a & & faregl ar ear & 3¢ dIfav - 03+03= 06

(&) @ & HROT Har [FAfT g Sl &2 '@rel Anr gl & & 3R W 3R @)
(@) W & I & AH § & IR F37 gfdegy ar?
(31) 1. 3FATH & G TATST HT IR Far oAi?

06. ‘T ARG 3ruar Gehial FUSr Tovrer v fhegl ar Taensil &1 =7 faf@u| 02

07. T HIAAT ITT Al T HcATIEE ATh & AT # Hay Yer g3rm? 03
3y,
0o heh & 9RAR & S & HRUN FT 3ea@ HITAT|
08. Wdl W 3TAGT AT HIA HIAT UT? 02
rYar

BRAT & Yool U6 & YR W 130 o 319 Afgensit & ufd & Fg g & o
3T I 82



sR@vs dftrw g va gfleror aReg e (FREvs)
gfadr wrafas adiam (2021-2022)
gfagsr v 9o ¥e- 03

HaT- 12 Rva- B (#FR) HAT- 1 Her 30 RAee quiih- 40

o

AAT fA&er-:

> qliemeft Ty srae & -l # IR &

> B9 YeA-IT & i @3 § | WY @3 & WAl F1 39T o1 AfAI 2
> w8l geT & AT PR 3% 39 a@a 39ia & 3ifea B

> wedl & I 39S Y fu At & s # & o |

s - ‘& (ufsd 1Y)
01. faArafaf@d ggamer &I ggax QU 10 Feaf & 3R e 02+02+02= 06

Rt weH T JT-ow forms aret

A o1 31ea & e e g AT g2

SR el S=2 i gar See |

g o T T 8N 9T SiUe |Iv gr?

e fFaEr fr feAa @ wdr &

FIT AT STl & 9§ S &l 82

FIT WIUIA'? Jg 9T Rm & 9rared

JIART FT IR TE ST @ 872
(%) TohdTell T 3TEETT SURT AT gl =T g7
(@) AT sl #r1 gt Sifa afaer FI FaT AT AR 87
(3T) FIERT T3 & T Rrer & urerel 3R ARa 47 g s 82

3ydar

fArfaf@a s & gga fGu v geat & 39w fAfew

5 #es & §aR & Ffd gl &, a8 dda Shfdd @ &, =g 81l & g8 aiida e’k 4
S TR # & @I g1 It 1 AR TE AT gicm 8, o @H Fo 3rararor gias g g,
ST 379er 90Tt 3R Gider & WeR FANST T o, Hel, Yol § FaT T gl S WS & Fed

1




HeT HeATS 8 T &, Sl 3 T 3R Gl § &l 8, S 39 FohaAt R Tl Taeqd & gom
FT 9T H TG &AT §, IHY TgIN HieT AUIATT g TRl §, 30 30T HleT FATSI-GT 81
Hehell §? FHIS-T gl eATFd A Hehell §, ST GHESCT g, Fgereliel 81, FeTTeiiaqur gl
S cafed & 3M9eh A1y gedagR foham § I 38 deo & YT 38H FegdaeR fohal,
o cafeda o 3mudr Her & § Il 3nusr 3T gerar Hr ar 3T FAES F 3wy FFaat &
hifet & o1 gleT| FHATST H U 2T §¢91, ER-ERX H 3MTUehT I[UENE g Teh e Tar off

3T o 39eh e & 39 9iEsd 9o S|

(F) H AT T Sfad T 87
@) T &1 el e gar &2
(3T) T ATFT FATST J & Fhell 87

s - ‘@ (IFcafFa sk Areaw)
02. Ffo@a & & fohegl ar 9=t & 3aX GIaiv - 05+05=10
() ‘AW VT RR 37Yar ‘dEere e vy W e Hey @)
(@) T fdEer g Fefa dfwd # v g7 o)
(3T) 3r9eT &7 & Taererdl # R cgaver W R sved #¥d ge e dfae
AR 99 & Hulgsh &I 97 faf@u)
() 3797 Ao & aif¥shlcdd I T 9fddes IR ffST]

g3 - T (TSITETF)
03. A=faf@a & O fFdY v &1 Feg-dicy Af@T- 05

(F) TrasT, fFarE-go, s, HEnd, o,
T, T9el ¢, IR, IR, dchT|
3cd IgA-INeT g1 W |

(@ 3 A ool T ¢ e §
dTeeh dl &5 dig & oferanr §
equr 30 & & g W & Al
¢" TSt H dig 3T 3T &



04. AFITAf@T # & fhedl ar weall & 3R &9 - 03+03= 06

() FME AT HiAdT & IMUR W TASE HIfAT fh 'TAcerag & SIC & & 2T I

(@) ‘FEAT-FHToT 3R THA #1 {FeT 916 & IUR W F8H0T & 9fd TH & -t |
gahrer Siferu?

(an) AT arT fAY & Yol &1 72 3iferd Afav]

05. TFITeif@d & & gl Gl 924 & 3T EIalv - 03+03= 06
(F) ST T SISl T el S ‘Hed Al AT b 3TUR ) A g eel 319s
3T SET/AT Fgend FAT Farreln A2
(T) T Tgerdlsl I THT FAT ol g foh A7 9% A Tgeldlel oIeh, TeT el 82
@31) SfA-gaT & TG H 3. JIg & TIRI T FET H Fehrer o]

06. ‘feRTer 3r2rar woliea=ry Yoy & foheel & @3 &1 3 e 02
07. JGeh & TSl H fARAH H8 917 'S Fglell o MUR R TAsT| 03
3T,
TN & Yool IS & IMUN G U & chfaced I dlel AT @ gerer siferv|
08. 'S[3T FElAT & HILIH ¥ oI@eh o T AW & §? 02
Irgar

U &l IRER FATTIE H = %ﬁvaﬂtﬁﬂaaggam



sREvs dMftre g vd gferor afiwg A (FIREvS)
gl wafas afiam (2021-2022)

gfaeer v 97

qe- 04

Fal- 12 v fd (#R)

¥AY- 1 "er 30 fAdc

quiieh- 40

a

AHAT A&er-:

> qfiemreft Tursra sraet & sl & IR &
> 3H U7 & i @3 § | g3l @3 & weal 1 3% &4 A &
> ol v & AT AUiRT 3% 39 FHa 399 & 3ifha B
> 9ol & 3w 3uF 1y e @AY & smas & & o |

s - ‘& (3ufsa a)

01. AT geamer = gga T aIT geal & 3 fafen-

Aifd &7 a9 deh, ST a%
Q-1 o Heohl T gl
e e F aga Hfew el
STET ToRdT T & gl
Taca Al & o A,
TOTd 91T g S |

o ar & e )
~ARd ATSRR Al
ao e s s
deredl Bl TFR
i, a1 f ge & |

(@) aifd & forw & 3maeas g2
(@) dSTEdT SEI S F AT UgdTT 87
(31) - g fAsaT g2

02+02+02= 06




STael &l HeE d3T HellhR AR TGH Thel AT T8 § ST 3G YeAld el STletell g
goATd el H Aloteh 81 8- &1 IS ol B, Tl IR gifl GARad &1 o g
FAR a8 # FAE &R Ha-Rar &, e B, FeA-AG F, g $O T AR 9 F
S W gAY Fherar 3R 3rEherar e 8, S SF e AT T F HT Gord, Hered AR
aRSHH T geATd IR IS G &I FoAd| ST T GeAral & eol-gil FIfd &1 gera
FaY FAcaqUl &, Fifeh $H Tolld W & §ART RRUT, GART e, AN TaaR, AN FaAlel
3R AR 9T T TR AR §1 Sl 91al WX AR Side I THeIdl-3TTHeIdT . HFHGATT
fehr &1

() SNaeT &1 Ga8 F8T FolldR Hiel g2
(@) @SH HgedquT Yelrd his-Ar g2

(a1) 3 T T 39gFT e Afw

s - ‘@ (eafFa sk aeaw)

02. fe=ifaf@a & & fohegr af 9ol & 3w AT - 05+05=10
(@) A SNaeT FT d8 HYar ANFad H o 07 )W v e afge)
(T) 9 817 # Flfe-cqaedn 1 Ferseh g5 Rufa @ Rt Sfas #AraR a7 &
Hulesh & Tah g7 foIfau]
(31) 39el &1F A 9FSTe & °R Hehe HT AR AT 3Pse X §U T fad ATH i
T g7 fof@u)
(&) 'IfAdesT I IR FIC HA U 38! fAq9ee 3R dea ford|

s - T (ISAYEdF)
03. fAfaf@a & O fFdr v &1 Feg-died faf@u- 05

(F) &8d ¢ ol Y FEaR-
JET U,
et - R,
et - &,
GUEREICH



04

05

06
07

08

facergg ¥ oI & & e ur|

(@) a9 9aT ] AR 9 FgF AT el
3 Hfg 3FY 918 Ie §fe T3 goHd ||

. ArafafEa & @ faeel & aeal & 3 AT -

() ‘FIGe Wr HAAT F HfT A el H Hdd HeT FAT Fal 872

03+03= 06

(@) ‘& Heol AR TA & [AeT & a&Au & 9fd TH & 97 & Hlo-hld d Ige]

a@mg@%?

(37) TESAT & HUR W dd30 b AT gaRT T A YHeol e & T FA-AT 391

o o @ &2
. frfaf@a # @ fohegl ar geat & 3 & -
() ST & $eX Bl T U ek ST &1 FoFE X6 TET SE<raT?
(W) Srereh &I 3MMaTel T QW I G AT 318 gIar Ar?
(A1) JGH & AT ¥ ST I A9 GRATT FaT &2

.‘W’m‘%%’ﬁ%ﬁmﬁwmﬁ@m

03+03= 06

02

. ST @ FUERES [HAR el & v el 9omdd §- #8e & 3R @ ¥

EQIEn
31y,

03

‘I, PIS AT Ge Sl AL A3 H 7T § FAS Ureqr| IBEE, AT SAfFT 7
3dd <TGl [Hel.......|” FIT Il o9l g Toh UsT & SH HYUT H 3Th SR oWl &I

HROT BT §? HIo 3 & &7 H dh aIav|

. QISATET H JUH fereT oI@eh T T 33T G372
3rgar

Ul & SeAfed W 39 F 39gR A

02



sR@vs dftrw g va gfleror aReg e (FREvs)
gfadr wrafas adiam (2021-2022)
gfagsr v 9o ¥e- 05

HaT- 12 Rva- B (#FR) HAT- 1 Her 30 RAee quiih- 40

o

AAT fA&er-:

> qdtemeft TuTEsE rge & sl H 3w &

> 39 W99 & i @s & | Wl @ F WAl &1 I a1 fAard B
> Tl e & v RAURT 3 39F a#a 3uia F AfFa g

> wedl & I 39 a1 G et & roes 7 & O |

s - ‘F (3ufsd @)
01. fAFfaf@d geger # 9g F IF AT 941 & 3R T 02+02+02= 06

fEaaraars &1 g7a
AYRY A A 3R @ ¢
g8 FEAr-gedl w4
- |
fAfFRrde & dIerar &1 T Hel T,
fohg ST 78R, G § 3 gre-faeTa|
(F) 3THATT & foras 3l HT a1 Fel T 872
(@) Wi o HEAT 6T Jolel ThEd HI 82
@) AR & Tadr HT FET AGT AT FT AT TISE FHL?
AYar
fAFAfa@d eer &I 9 T & 0 9=l & 3R i@

ey Tl Saemiat & HeleHmd Sliaet &1 Sofl §, Fifh TaELT & 9T Siigenat
A fhar-afaferare v St 8, fder g Srclt 81 g &t oo of safore &gt Sinar g,
fSre JehR T g3 STl TS AT &, I &1 Sl &, &b 8 9hR R 3R Fodher
Slael & T @ STl gl TR 3R Weishe &l WER 64 HE g1 a-ugh g ar

1




HAS, S Weldl-edl =161, 98 3ched AR JHeol I§ 8 6l Hohll| ST §H Wold & ol gHA
STAT WIOTEET, ¥ FHid 3 7S Idar 3 e B

() Shaet T Holr F41 82
(@) Fareeg g8l SaariRat & faw =4t 3maedes g2
(31) FH FT FEELT § FAT HE 57

s - ‘@ (AN i Areuw)

02. AFIfaf@a # @ fegl ar weal & 3N §fav - 05+05=10
() ‘AN O gt 37yar Aae: e & ™ & vy ) e @ey
faf@u
(@) 9= 3ld H HRIAT SAd HT o@ralel g FAT IR A Teh T

fafgu
(31) FATR-GIE@T & T 311aege deal & gule |
(H) §AEOR 99 & & & fhde 3R Hla-wld & AEIT 7 dier S dhdT g2

s - T (ISAYETF)
03. A==f@a & ¥ O T &1 Freg-dled [Af@T- 05

(&) sﬁv‘ra@,%eﬁv‘r%m
U faced & dRl
I8 form § 38 IR
gIS-AT €1 § 3R
T Sael & IRMER!

@) St gw O @er i &l #f e e FRew w1 fe
319 #7A St §Y 9] gl St 573 & fS3md ||
04. AFIA@T # ¥ el & 92l & 39 AT - 03+03= 06

(@) ‘AT @ W g@ H O Uidkd H 'qQ@ T ST fhd Sgl a1 § 3R F41?
(@) U & T HT AHAA $R (TH) AT 1 AL § HT Hehcll g- Joldll HT Ig HleT-

2



o &1 30 GAT &1 3 Ja-Tcg g7 dehqul 3 e
(3N) R TET & oIS I [SoTall ST THS H dRE Fghl FAT AT cHToId eI ATgdl

&7

05. fArTfaf@a & & foregl af w2t & 3R fFv - 03+03= 06

06.
07.

08.

() ST A 33 BT X Il Hh SieT T T TRE T&T SeT?

(@) @elelt & fha-fohd AIS W ofcesT & Siiael H T IR 302

(a1) STT-TAT HRAT FATST H SRISERT @ EET T 3 Th HROT HA FaAdll TET 87
a1 g feufa 3mer ofr g2

‘Hele, ATed’ 3dl ‘i ARG T fhegl &Y A &1 a1 fofge| 02

SIST HETell & 3MUR W AT Higerdla & AT $HI 3o RT3 S d@ifehd ST

e &faar & gfa o@s & A A R Sem| 03
37y,

¥ ek & IRAR & X & FROUN & oo HIfST]

ST FEE A AR ThE 9T A F99 AHUF gaTiaa faar 3R 4t 2 02
3rgar

U o e STl U fAsfia AfsAr fohedr @ Ffd i gu o fodd?



sREvs dMftre g vd gferor afiwg A (FIREvS)
gl wafas afiam (2021-2022)
gfagel geal o de- 01

FETT- 12 Ryy- B Rew) | ¥79- 1 "er 30 fAee quith- 40

a

AT fAder-:

> gt gy et @ sur-del F 3 &

> B9 W9 & @S ¢ | G @3 & weaAl #T 36¢ a1 FfAar @
> uslt v & Qv UG 3w 39F awa 3uia 7 AfFa R

> WAl & 3w 39 a1y Ru @At & mew 7 & g |

s - ‘&
(3rafSa ae)
01. e eI H Teeh & T 9=t & 3 fafae- 02+02+02= 06

JEUTIEAT &1 Hedl 36 g, A FaIv| Toleg Hfasy &1 =ar § 9 geer =gr §, 3 aoor &
g, Fifeh 3eg H &I RIAT gl S HAMS 814 § 306 Hal A FAY Heldr &1 3aredor &
forT it &2 & afasy foATor & fow Rfdd gid § 3¢ 9= ST FATCT i & HcA ga
fAerar §1 STareelrer Ag® 3R IR S J%0T AR & T0T Aar | 309 3T A8d, Fhic
U4 3cHIE UT| JeHTaeyT 3aish IR Y SHOT o Fehell - Hof Y g1, T S 9T TehaATS
R-G@ &I & AT F&T AT & o1 siaed 7 AR afed & aforar & arg-ary
JEHITEEAT 3T STl §1 36 TR o Wil JeuraedT ¥ HESe g 3McAday 4 o gry e
o &

() Jeuma¥rdT fheg 39T RIPR AL T Fehehh & ?

(@) HF AT A FAT F g of dod § ?

(31) IS # foheg 'TEUT "hgl IR § ?

3ryar
fArfaf@d geamr &I ggat gat & I fafev -
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(31) BT A G Tolel T HSAT of FolleT I’ FAT gl §72
05. fAFIfaf@d # @ fhegl ar wesll & 3 d- 03+03= 06
(F) @S FeoT ¥ W F Hg A FAT Tl o W A2
(@) FHASN ¥ 319 FAT FHSIA 87 IHASK dd HA Aol F37 872
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sREvs dMftre g vd gferor afiwg A (FIREvS)
gl wafas afiam (2021-2022)
gfagel geal o de- 02

FETT- 12 Ryy- B Rew) | ¥79- 1 "er 30 fAee quith- 40

a

AT fAder-:

> gt gy et @ sur-del F 3 &

> 3 WA-UT & WS ¢ | Y @ F weaAl &1 39X AT HfAar g
> w8l weT & AT PuiRa 3iF 39 gFa 3uia & 3ifha B

> wedl & 3w 39S a1 i et & s A & ford |

s - ‘& (Iufsa aY)
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e @ € o1 R @ aRd ® av €, 3 i ARa aw € s & el el e
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FETT- 12 Ryy- B Rew) | ¥79- 1 "er 30 fAee quith- 40
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AT fAder-:

> gt gy et @ sur-del F 3 &

> 3 WA-UT & WS ¢ | Y @ F weaAl &1 39X AT HfAar g
> w8l weT & AT PuiRa 3iF 39 gFa 3uia & 3ifha B
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SIREs ddre sgHear ud yfdieror aRug Al (SIRE's)
Jharkhand Council of Educational Research and Training, Ranchi (Jharkhand)
fgata wrafere adier—2021—2022
Second Terminal Examination-2021-2022
Aisel Y1—94
Model Question-Paper

dc—1 (Set-1)
aif—12 (Class-12) |fawra—sfasra qurie—40  (F.M- | 99130 HTT
(Sub-History) 40) (Time-1.30 hours)

A fAde—(General Instruction)
> qdigreft gemraHa U veEl § v T |
(Examinee write answer in their own words as far as practicable.)
> G YT B &A1 19 B |
(The Total number of questions is 19)

» U 1 9 9T 7 9o JAfdagadd T 2| 399 9 {6 uld yEl @ Sax
Iferhad TP arag A ST | Y-S 93 T 919 2 3id fAeiRa 2

(Question 1 to Question 7 are very short answer type questions. Answer

any five of these questions in at most one sentence. Each question carries

2 marks.)
> YT 8 4 U 14 P g YW Bl 3 9 &l uig Tl @ IR
Aferead 50 rsal ®§ SINIT | 9D YT &1 74 3 A fAeiRa 2|

(Question 8 to Question 14 are short answer type questions. Answer any
five of these questions in at most 50 words. Each question carries 3

marks.)
> U3d 15 9 YT 19 db HSdN ™ Y 2| s 9 fedl 9 gy & Sav
Jferpdd 100 regl & T | U—AD Y BT 919 5 IJid iR 2 |

(Question 15 to Question 19 are long answer type questions. Answer any
three of these questions in at most 100 words. Each question carries 5

marks.)

Gus—3 AfdTgSaiid ye



AT 99 & UG DI A4?

gd f&a9 $9 991 Srar 27

1857 @1 Hifd & Yw3d el 4 g3 oA?
SATferaTdrell 91T ThiS $d AT AT?
HRd &1 GiIem $d o] g3am?

TFPH @ WAl A Al A Ed B9 BI?
HiTel urved o $el fagrs fHar on?

No o reDNR

CUS—q TSI YT

8. IpexATT U dfera fewofly fo |

9. 1857 @ HIfd ® dchIfId BT BT qUi DX |
10. NABANT 3Gl & BRI AN |

11. "ifd® IfHRT & IR ¥ 9a |

12. IRl ¥l @ faAvdRn & Scadw & |
13. 9HIUd @ 9o g WR Sfdra fewsft ford |
14. BRATR &1 giadt Ruid @ar 87

O'X'" crdsada gy

15. dTd fagis & R A fTwR 4 99l |

16. HER Ydb TCIA ATHD T HU?

17. @A AT el d ASAT AN B YRHT &1 qvia & |
18. AR |fde™ @& gy faeivand sang |

19.9Rd & 9o & Y@ SRV BT Scdd I |



SIRG's et gEar yd gflRreer uRug A (SIRE's)
Jharkhand Council of Educational Research and Training, Ranchi (Jharkhand)
fgara amafse aier—2021—2022
Second Terminal Examination-2021-2022
Hisel 93—9=A
Model Question-Paper
de—2 (Set-2)

qif—12 (Class-12)

favg—sfasm™
(Sub-History)

qoTi H—40
40)

(F.M-

q99—1.30 gcr
(Time-1.30 hours)

A= € e—(General Instruction)

> qdiereff gemaya U veEl H X < |
(Examinee write answer in their own words as far as practicable.)
> G 9Tl B GE&AT 19 B
(The Total number of questions is 19)

» Y% 1 9 YT 7 9o Afdgadd U = | 399 9 fHSl uid gTl & Sax

AfSrpdd T drg H SO0 | g 93 DT A1 2 3 fHeiRa 2

(Question 1 to Question 7 are very short answer type questions. Answer
any five of these questions in at most one sentence. Each question carries

2 marks.)

> Y% 8 ¥ U 14 O Y 9T B | 39 9 6 uf"g gyl @ I[a

Jferdd 50 oregl A AT | YD YT &1 419 3 3id FAeiRa 2 |

(Question 8 to Question 14 are short answer type questions. Answer any

five of these questions in at most 50 words. Each question carries 3 marks.)
> 9% 15 ¥ 9T 19 d@ <EHSTE 9 2| 3 9 fedl 9 9T @& S@R

3ferdd 100 el d AT | YD YT &1 419 5 3ih iR 2 |

(Question 15 to Question 19 are long answer type questions. Answer any
three of these questions in at most 100 words. Each question carries 5

marks.)
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1.Jfoh-T-STeRY fohar $1reT & forar Ira &7

2.FYUTS SaIaEd & AN TohdTel @ SR & &G H qHell 375 LTIRY ST fehelall HET THIGR 319e) a1 T A2

3.1857 FT hifd & THT HRI & ITdeR STl ShisT AT?
4.a‘rfrzﬁrramw3ﬂwgmmﬁaﬁ?r§é 29

s.gmaﬁwaﬁxwmaﬂ?ﬁwgé?

6.37heR o HlgY el H Folg exarel &1 AT e 3uae # fohar ur?

7.8TRd BIST Meelelel BT B3N Pl §5?

CUs—q agSaid 9T
8. ETeT-U-SelTar & 31T FIT AT g7

9."HUTel 3R TGTTST oh slTr o3TS & ol IR PeTel o o wIsTe A g ST |
10. 918 SoTglSl ST T TIEI0T s’ &FaT 22
11. HRA BIST ATGIelel o SIROT §dTT |

12. R HGUT o ITAR "LATARIETar #2182

13. HIST HAAHGER! STGEAT ¥ 31T &1 FHSIA 872

14.1857 3. 1 Hifd & HRT Il THT Hg TUT Tgl & Acecadhedl o1 A1 fad|
QX" qrdsada gy
15. FITST el F AT T T FAATAT3T T Uil HITAT |
16.9gTT2IT N3N &hl TN T aenT TUTeT T 3meifasT @ forg 9 & Ao 22

17. 1857 % Taglg & IRUMAT T oI HY |



18. THE TG T TSSHA U 32227 T J0TeT Y |

19. et foHTor 7 greq |fATT i i a1 qole w32



SIRGs e gEar yd glRreer uRug A (SIRE's)
Jharkhand Council of Educational Research and Training, Ranchi (Jharkhand)
fgdra amafse adem—2021—2022
Second Terminal Examination-2021-2022
Hisel 93194
Model Question-Paper

dec—3 (Set-3)
aif—12 (Class-12) | fasra—gfasra quife—40  (F.M- | 993-1.30 eI
(Sub-History) 40) (Time-1.30
hours)

g A e—(General Instruction)
> giereff germaHa U vl # SN Q|
(Examinee write answer in their own words as far as practicable.)
> G YTl B GE&AT 19 B
(The Total number of questions is 19)

» UE 1 9 9 7 9@ Afadagadd g 2| 3 49 {3 ufg gl @
Sax JAfSreay th 91 F ANIY | y—dD I BT °HI9 2 b AeiRd 2 |

(Question 1 to Question 7 are very short answer type questions.
Answer any five of these questions in at most one sentence. Each
qguestion carries 2 marks.)

> U 8 ¥ U 14 db Igadd U B | g9 9 {8l uid yTl & Iax
A 50 el A FFY| Y-S 93 &1 99 3 3d FeiRa 2 |

(Question 8 to Question 14 are short answer type questions. Answer
any five of these questions in at most 50 words. Each question
carries 3 marks.)

> U3 15 @ Y3 19 dd HSad gy3a 21 38 4 fedr 9 gy @
Sd¥ IAfhad 100 ecl ¥ AT | gD 939 &1 919 5 b fAeiRa 2|

(Question 15 to Question 19 are long answer type questions.
Answer any three of these questions in at most 100 words. Each
question carries 5 marks.)

Eus—3 AfTTgSadiy gz




SE¥ ywa fHua ywga fear en?

@RIV UTdl &) ITYAT 9 MR FHaET I an?
gAT 4de H9 ;AT AT?

1857 @I Hifd &1 gdre =g aar or?
AfFTTd GATIE & Y9 IARIE! Bid 247?
AP GINT SIS HY Hd GHI fHaAT T=am?
sfags w1 # yrey @fafa @ siead 9 97?

Gus—4q AYIMNIT 9T

8. dM-iwfear ugfa @ < wasd 27

9. ST JATS FAT oT?

10.RadTHd 3l 4 T IHIA B2
11.3fd1e Tae o fewofl foe |

12.¢9 & fspraa 9 3y I 9Hsid 87
13.33qd T T AT?

14319 f2=< wiwl 4¥ dfera fewefy ford |

N e~ DNRA

QX" ‘D3I ‘1

15.1857 DI Hifd &I IJAHAAl D FIT DR A?

16.9Rd H BN & ATAAHOT W GHIIA I |

17. 9351 a1 ATQTAT D1 v I |

18.ARAI I A&l A A T 19 B JHHT &1 aviqd Y |
19. 3% &) aifite Aifa & fadam & |



SIRGs e gEar yd glRreer uRug A (SIRE's)
Jharkhand Council of Educational Research and Training, Ranchi (Jharkhand)
fgdra amafse adem—2021—2022
Second Terminal Examination-2021-2022
Hisel 93194
Model Question-Paper

dec—4 (Set-1)
aif—12 (Class-12) | fasra—gfasra quife—40  (F.M- | 993-1.30 eI
(Sub-History) 40) (Time-1.30
hours)

g A e—(General Instruction)
> giereff germaHa U vl # SN Q|
(Examinee write answer in their own words as far as practicable.)
> G YTl B GE&AT 19 B
(The Total number of questions is 19)

» UE 1 9 9 7 9@ Afadagadd g 2| 3 49 {3 ufg gl @
Sax JAfSreay th 91 F ANIY | y—dD I BT °HI9 2 b AeiRd 2 |

(Question 1 to Question 7 are very short answer type questions.
Answer any five of these questions in at most one sentence. Each
qguestion carries 2 marks.)

> U 8 ¥ U 14 db Igadd U B | g9 9 {8l uid yTl & Iax
A 50 el A FFY| Y-S 93 &1 99 3 3d FeiRa 2 |

(Question 8 to Question 14 are short answer type questions. Answer
any five of these questions in at most 50 words. Each question
carries 3 marks.)

> U3 15 @ Y3 19 dd HSad gy3a 21 38 4 fedr 9 gy @
Sd¥ IAfhad 100 ecl ¥ AT | gD 939 &1 919 5 b fAeiRa 2|

(Question 15 to Question 19 are long answer type questions.
Answer any three of these questions in at most 100 words. Each
question carries 5 marks.)

Eus—3 AfaTgSadiy gz




1857 @I I &I A fead fear o
AT el & werer &) Surfer feas &% off?
S0 3 foa Meds T e § 9rr forar oa?
IHaATT fhad! =T 2 |

faems aar & TR srege diea o7

HercHl el & efas 6 i A7?

wfyqie ffreE 9T @ srege v 2?

GUs—q I Y

N o o ~wbh-=

8. ATgHT HHIYN UR YHII Sid |

9. Higcded ST T oI1?

10.3N1—3IRT sAThIs d AT GHSA 2 |

11.1857 @1 Hifd ® AP BRI BT Sea™ BN |

12.®f31eT e Q9T 9 MY T JHs 8

13.981I® Gfer a1 of? saal fe=r 9 fagivdaren &1 Seaw & |
14.fpcg fiee & IR o Gfdrg fewoft fod |

OX" '3V ‘1A

15. 81 &) Ioigd Nfd ST Sed@ oY |
16.3IdATS] T WX fawR I B STd |
17.1857 $I Hifd ® TTOUY U YHII STef |
18.HETHT T B NHAIAT & RT HIROT A?
19.Rd BTS! JATGIdT BT qui- & |



SIRE's et gEery yd gflRreer uRug A (SIRE's)
Jharkhand Council of Educational Research and Training, Ranchi (Jharkhand)
fgara aafse aiemr—2021—2022
Second Terminal Examination-2021-2022
Hisel 994
Model Question-Paper

de—5 (Set-5)
aqii—12 (Class-12) | fawa—sfasra quif—40  (F.M- | §99—1.30 et
(Sub-History) 40) (Time-1.30 hours)

A= € e—(General Instruction)
> qdiereft gemaHa U veEl H IR Q|
(Examinee write answer in their own words as far as practicable.)
> A YTl B GE&AT 19 B
(The Total number of questions is 19)

> Y% 1 9 U 7 9 AT U = | 399 9 fd=gl Ul yeHl & Iav
Afpay Tp a1 #§ AT | 9&@d YT T °911 2 Iid fAuiRa 2

(Question 1 to Question 7 are very short answer type questions.
Answer any five of these questions in at most one sentence. Each
question carries 2 marks.)

> Y% 8 ¥ U 14 O AN 9 B | 39 9 & ufg gyl & IR
Jifrpan 50 gl ¥ AT | y—S Y3 &1 919 3 b fAerifRa 2|

(Question 8 to Question 14 are short answer type questions. Answer
any five of these questions in at most 50 words. Each question carries 3
marks.)

> 931 15 €@ U9 19 dP <rdSaddy 93 2| 599 4 feosl 9 g1 © Sax
3fSrpdd 100 regl & AT | U—AD Y BT 919 5 b =i 2 |

(Question 15 to Question 19 are long answer type questions. Answer
any three of these questions in at most 100 words. Each question
carries 5 marks.)

Eue—3 JAfdTgSaT ye=




TR BT YT ATH T 17

ARd $T Aligg dl {2 Hel Srdl &7

. R R &1 S B wad |49 H o oft | fhaa) ufhg Sfdar off|
. SISy A3 &1 oAl feas a1 ofi?

. AT ARG 9T BT AT A ot ofi?

. |i3E™ |91 &1 Yo 48 &e g3 AT?

. GTal BT g $Hd 3T AT?

N o oA WwN 2

GUs—dq AYIAI I

8. SEIR ®reia faader R YS9 STd |

9. HETCdTS] UdRqT |§ T JH 87

10.TTUST ATAT BT T ST AT?

1.9 <1 g1 Hfda feaw i w9 an?

12.dR ax Rz W dfedra fewof fod |

13. 97Tl AR ¥4 gigfafd daR &= &) gfsbar &1 qoiq Siforg |
1498w RUId W dfera fewof fad |

O'X'" qgsaia y=

15.1857 ® Hifd ® HRUN I Scald DN |

16.9fa8 9T & SE2¥T Ud BT BT 9ui & |

17.9RART I 3nglad & fafir=1 aRo &1 Seod@ & |
18.9RARI TRoT FH1ST R SUfAASEre &1 R YHT1d UsT?
19.9RAII Tadadr A9 1947 & YAl BT Sl BN |



FREUS AeH AT TRYE, A (FRTUUS)
(Jharkhand council of Educational Research and training, ranchi (Jharkhand)
efachar graferes odiem 2021-2022
Second Terminal Examination- 2021-2022
AlSe 9&-97
Model Question-Paper

Je-1 (Set- 1)

heT-12 - a&pd quiieh- 40 THYG- 1:30 ©er
(Class- 12) (Sub- Sanskrit) (F.M- 40) (Time- 1:30 hours)

A fader-

N o v s w N

FurEHT qAemdt 39 erset 7 3w &

el AT T HEdT 19 B

el 1/ 7 deh AfAeegadd wea 81 o6 ¥ fahedl ura sl & 3¢ HRshad U aeg 7 &)
IS YT T AT 2 3w FeuiRa g

9T 8 ¥ 14 I TgalINL g1 3a1H ¥ fhedl g geat 3¢ )

YAdh YA I AT 3 3 Uik &1

g 15 & 19 e &Y 3O IR g1 518 O fhegl died URal & 3R &1 UcAsh UaAT &l Al
5 3 iR &1

gvs: (F)
T WA FATISHT:| FET IEAGAT, QUi 3aid- 2+5=10

HEI AR ATH Folraeld] A ?
FEGIUTAT & HTATARIT: Hled ?

AR HiATHFT: ERATIR R T T ?
3fgsoraRye: gxafa: &: 3mdd ?

T Ffd gAOnfe Aed ?

AETET Hf 3HZIMTA, FIfd T aATfed ?
3fgsoaive: gaETd=afeYT: &: ?



gvus: (9)

QUSsRAT WH THT: Year: § AAWSHAT| FIe g5U49 HATIT: |

8 afet $oc -

(&) ad + e
(@) Hfa: + 31TH
(@ TFg + et

9.faede Fod -

() Footet:
(T) 333317,
() §T I

10 gHEAUE for@d-
() ISl UTHIVT HATBR:
(@) FATOT =TTl FHATER:
(31) THAT FHEUTAT

11 faore Fea -
() T
(@) afoTaTEa
() faet
12 8 yeaue 3T ot T Repearata gaa-
(F) T s R (zam)
5) R Frelara: A8:| (Hi:)
(10T ER grefd| (J54:)

13 gehfavcgdt @aey foad -
(%) #H + qHA

(@) fogq + =aq
(@M F + Fear

14 3fRafEae: ReeuEna @ d -
(CIICIC DR E | (UTad:/andied)
@) g TP e | (Fofa/dad:)
C IR C I R | (Ffearmefa)

3+5=15



gus ()
GUssTPAT Tawsm: vean, 99 T39 FATNT:| 5*3=15
15 YehaTdAIaTy JuraTeds gid a9 fowd -

16 grqereaey dferd IR=y fowd -

17 senfaf@d R gear vsaaafa foaa -

[T - HE HEhd | 3 TaATerd Testifl| TUd Hreie 376 H&hd Toria|

19 H>SIIT Yeadey 3 v Ricar wai @ad -



ARf g A e G LR TR SAET ATH FATUTT T v, T
3aRreg defd T Hfel: FUAT YPIA 3T ............. " gEAlE| e Haed— € AlAaT T8 HaarA, @
T TTAT TE eoveeeereeeranen. | 3cT: € Gaded TEIH T T o gefal gar fg- ¢ gweten
............. Hafed|

H>WT- gade, fasfd, Qwequm:, RO, eh:, JITd, T, i, Tehar, 3@




FREvs AfE HTEtIeT TR, (FTRETS)
(Jharkhand council of Educational Research and training, ranchi (Jharkhand)
giada grafde gdeT- 2021-2022
Second Terminal Examination- 2021-2022
HAISS 997

Model Question-Paper

dc-2 (Set-2)
eT-12 fawa- a&pd quiies- 40 THYG- 1:30 ©er
(Class- 12) (Sub- Sanskrit) (F.M-40) (Time- 1:30 hours)

AT fader-

> FurEHT qemdt e ereet # 3 &

> Pol gl B wEar 19 gl

> U 1 W 7 ah AT 99 81 3T @ fhegl uid Ueal & IR H{hdH U a7 S
IS YT & AT 2 3 uiRa gl

> 9% 8 @ 14 deh TETIYRE g1 FIH & fohegl Ui wRal 3Tl
JAdh YR T AT 3 3 AuiRa g1

> U 15 T 19 T &I a0 e §1 308 & fFegl i Ul & 3R &1 UAF WaAT &l AT

5 3/ fAeiRa gl
gvus: (F)
GussfEAe, T 94T FA:| FAl U FAT: oI FHATIT:| 2x5=10
1. 37 31 9 e gTHA?
2. YAcT: i gehd: Fl:?

4. HAEROT GaET AT o ehr HI IA?



5. feurer AL &: Bud: 3

D

7. AR FEF A wfaaied ada?

©

10.

11.

UGN hNIH, JTshISH?

gvus: (9)

HUFAAY FHAAAY TAY FeT g5 FATET:|

(3) 3 + IRUTH
(@) #A«: + I
() T + B

faese $od -
(&) AR

(@) &eeatd
() Srsf

AT forgd -
() I>AT Gerell HAGR:

(@) T MNYAA TegorsT
() &6 T &w:

forgared foa@d-
() giet

(@) 9=’ T
(1) FERAT

12. F18 yeaegaERA faafanfts Taea Reeueta ad-

GO ICIIS o TEhd gafdl (Riefe:)

3x5=15



13. gpfavcadt @Ay forgd-

() o + el
()93 + B
(@) T + A

14. 3Rd foharae Rcar Repearria @ad-

() 3T TEd: FE: o | (ifed/ai=a)

@ e gt @&t | (3mera/3mEdTa)

(31) 3MTAT GETHR oo | (JoTH:/TaTd:)
@vus: ()

AR @ud gy @ GARE: T Afed| FEIR TIOMH TT IR dET: | 5+3=15
15. feetgaeg rawend g ufa grdams fomd-

16. I AT qUTIA-

17. IrENfaE A 3YYcy gsuaerna foed-

18. HsoId: 3R ared Riear darg qaa-

TH:- o HEAT FETRAT Iofa?



TH:- AT GIGARETAT TSI |

QYTH:- o AT aT 37EATH YT shel Afasara?

| FoTT- AP T AEER ARSI AT R Riedt F%1 3% e gert
19. #F>SNId: 3FIAUerts fHedr HUr TId-

Ueh: Shleh: AT F 37dd (i)............ AT T FTAH IATH ((i).veerrierrnnrines A, W] FAMT
STol o GTHdle]| &aaeld ds T (jii)............. T GE: (V) oo, 3| Faehidel T H STel
115 () I Il AT TH: (Vi)ewrrerernee Rfeaa:| @ e (Vi) AT TS

(V1) I | SISATTAT (iX)evrerrrerennns STeld 39N 3METTA| &ieh: ol Gedl (X).oereeeneee. 3rad|

H>NI- €E:, TeEd, IFAY:, Saeda:, "e:, Uy, IqRA:,3u1g:, I, ase




Jharkhand council of Educational Research and Training , Ranchi ( Jharkhand )

Hisd U4-UT

fedra arafire ufiem 2021-2022

Second Terminal Examination -2021-2022

Model Question Paper

Jde- 3 (Set-3)
PEIT-12 fawa- dvpa quite- 40 UG- 1:30 HeT
(Class- 12) (Sub- Sanskrit) (F.M- 40) (Time- 1:30 hours)
g Adw

o TRIEM qURYT U Weal | B ST G|

o A U B T=T 19 B

o UY 1Y 7 P ATy ST UH &1 378  fh=al e usli & IR sifreran tah arag |
AT U Uy BT T 2 i Mefka Bl

o TY W8 Y 14 I TY STRIT U B 1578 ¥ gt 5 7sfl & IR T8 (9ds Ul BT A

3 3 FAYRa B

o TUHTWAT 15 19 db oY ITRIT UHE | 3780 I fbgt oI Uil & IR ST | Ul Uy
B HMA 5 3 FeyfRa § |

Yus-h

SYT T THTETH IR0 fera—g- 2

x5 =

1.t{filﬁiﬂz$ﬁfﬂ?[:?

10

2. "3RI 3T UE H U ?
3. FHARE ury Uz ar Uitaw 2

4. IFGSURYG: U & I ?




QUs-9
YT U1 TYTETY SRIOT ferawg- 3x5 =

15
8. I Ppd-

& + IR

d. o + oAy

1. g + 3AIId:

9. FF-fa=dd pdg-

. U UeddT=T JHTBR:
11. faugud ferag-

&. AdiD!

4. JEALHN
T, gdTe:

12. HIFDHIq Ifeduc ferear Redeme=i qRa= |

B .H: ----- T8 BT | (&Y, Hieam, Do)
o [ frsfa |  (RRuean, Raaow, faed)
T oY 9 | (‘T[ﬂ'Qqu, W, T@'Q'HFD

13. UPHid-Tad! Sared/fqysa forawg-
®. UG + acdl




14. Ifyafpame: Reqwmfy Ra-
%, 378 fagner ---- | (TS / 3T
. J&ITT TATT ------ | (Udfd / gdf=)
Ll I i o —— ? (TSR / gafd)

LUus-11
YT FATOT YHTAATH SRIOT faRa=- 5x3 = 15
15. gy gumTErd ufa $ae-gs forag
16. SENTIRIAIYRY HTHY ThH fdid qr: afyy
fera |

P, TTe] g Alch I IHBIH
17. Uea=isa™i Ser™ddl sitieae B Jui gsiarey $d=g)|

18. HooNTa: SfadraT ol Hdle R |



(oo~ famareds | dEelTRIC | B3 uiewRy ©@H
? 90l | foh 99 AT 2 318 31U 94 UaTH |)

T — 378 T |
Td: — QMUT ? YU A9 | a3 91 | & oz STTDRT ?

I: - HYT , fooref @ 3/ Smar ?
JMHT - g o fhHYdH 3 31y 2

ﬁﬁ%ﬁuﬂm &rtfqﬁ?rm | §TCT: 4. erriﬁqaﬁ

Wﬁﬁ@lﬁ%lﬂﬁﬁ ----- &mmfwﬁm
|m-—cﬁf&mﬁﬁwm ------ ama?[l






RS AT I T JiRIEToT IRve, T (SREvs)
Jharkhand council of Educational Research and Training , Ranchi ( Jharkhand )

efada arafas afiarr- 20212022

Second Terminal Examination -2021-2022
HASST 9A-UT

Model Question Paper

#e-4 (Set-4)
FaT-12 [EARER:LS T quITE- 40 qHI- 1:30 °er
(Class- 12) (Sub- Sanskrit) (F.M- 40) (Time- 1:30 hours)

AT fader

o Tlrerdt JUTHHT HUA UAsal H & 3 &

o ol AT dr TEAT 19 E

o WS 19/ 7 deh Aoy IA0T T & g & bl Ui YAl & 3R HARAH Th
FFg F AT TS U & AA 2 3 FAuiRa g

o TR TEAT 8 A 14 T oY 3o e §I3TH A fohel 5 UeaAl & 3R QST |9cdh
92T T AT 3 3 AU g1

o T TEAT 15 A 19 dF &Y 300 UeaAe| 578 & fohegl i ual & 3R &S|
Il Y &l AT 5 37 FUiRa § |

GUs-(F)
TS TRAT: GATATT: NI FETH, 3afor qoiareds dae-- 2«5=10
LARRA Hid GANS dfed? Hiia o dfe ?
2. %A FAT: ? A foEd |
3. 31RTCYAA: ALTAT: JoTdd FH 398Ted ?

4. GiSCURTY Al A1H Freh give o




s I EHR HEI A HATAHH AT Flgeaifaa! Ieaia?
6. QATIAAAR.’ S SEfesy: FATANAA FHEITA FATA Fel S ?
7.94ar: i dfed ? wogen wfa afed 2
gus- @
TS veAT: GATES:| FU T4 3ala- 3+5=15
8. Hfe¥l Fed-

(&) G+ Tol e
(@) + TR
(37) &+ ITIH

9. Al-tr-faeae Hod-
() Torzrem

tS)EICINE)
(M) $™°¢:

10. FEAYE for@d-
() FeT: T Fh T
(W) FeOTTSIA

c 9

(37) AATATH 3Tl THGR:
11, GIATRAS 998 Foc-

(%) B3y

() FeoTTSIA

C 9

(a1) Rt
12. 37 faofed daea Reaqeaena qaa-

@) &g __ SR (F)
@)__ 9Ra: gera: diedl (dsm)
@w_ | (79

13.909 I [9aey ar for@d-



(aF) T+ o

(@)erg +ca
CORCTIEE:
14. 370d Taehed Ricar Reraeureia qad-

() 378 9T: eIk | @resfd /afasafa )

(@) drfereT: goo (At / sjcam)

(31) 37aT: dig |(emafa / grafed )
@us- ()

TS THT: FATATGH:| FIfAq A0 0T IO AET: | 5+3=15

15. feeicaaea 3@ Faurard ufd v gder-ud fer@d-
16. 9 TScar YA EId-

17. HoI: 3RA arerfe fRear ardierd @ad-

YHA- (i) |

RIGH- TEpd Toatal @I ATer:?
R (i)

Riaw-Rh Tepel I Hioet et 2




QLT (iii)

RIaH- AT | TEpastT FeRT 3|

P ()

Riea- Srefd &= 35A 310 depd qfesanA|

- (V)

gzi\—,!'\q'[_
+ WY GEh AT HRA AT o A |
L s Ty o A 3
4 37H,3E §&hd ToI#A |
+ HEpA TS Fgd: AT Hied|
+ o fa @A 3Eq|

18. HIWIC: 3fcrehdsl IrNfoi@dr ®al RiRicar go:feraa-

Teh: T e Torard: 3| gate (i) qcar & IRk 39| THITA &1
iR Fh: FUI STeld e & afa ¥ | I @ifefd (i) T 3T I T
3| FVeh: ol fAShET ISR goar| 9 faed-

“3gY 1TeTel STel  (iii) #Ed"| FuF: 3r@cd- 3H, TG T FAfed| ‘R HIdT ST A
dIaH?” YT UTdeh:| FY: aed- “Taed Fued Ao #ar ®oT Eihdd ]
IqIad dd o Yeara (iv) TIET ST 3R Aed & 31f9aR: sfa| afdes: [t
Heal AEeaad- A i Jar 3eT Jeen (v) ool GoleT: |

HIW-  JHHAIJeTH, TTATCHT, e, 3cUTY, drad

19. ‘e sfa faumrm: aftrsed yfaueaa|

3k 3k 3k 3k 3k 3k 3k 3k 3k 3k %k %k %k 3k 3k 3k %k %k %k Kk kk sk k sk kkk



SIREUS eI HTHYTT Ud FiRIGT0T aRVe, I (STREUS)
Jharkhand council of Educational Research and Training , Ranchi ( Jharkhand )

alada arafdes gdiet-2021-2022

Second Terminal Examination -2021-2022
AT 927-97

Model Question Paper

de-5 (Set-5)
FETT-12 v wega quite- 40 ¥HI- 1:30 ©eT
(Class- 12) (Sub- Sanskrit) (F.\M- 40) (Time- 1:30 hours)

ATHAT G2

o glieTdT TUTHHT 37U Asal H & I S

o Fd Tl H HEAr 19

o G 18 7 oeh JHieTE SUUT U &1 g1 @ fohegl urar 9eaAl & IR
AVFdH TF ag # QAT IF 92T F AT 2 I iR gl

o U HEAT 8 O 14 dh off 3T 9T 8138 & foheel 5 Ul & 3
ST I9AS U T A 3 37 FeRT &l

o UT TEAT 15 ¥ 19 T &E 30T weds| 5987 & gl AT weat & 3
AT IAh IR FT AT 5 37 FIRT & |

s (F)
FAGAT: FHATATHT: | Fae] G4 QoI Ioid- 2+5=10

gf¥ear: geaqerr A Fifa afed?

‘Pl gl ug wEHTAY ggeFTe?

AAIR: A= e 07 o7 Joafa &1 2
HATATHA & SAferdn: drfodiRed #afed ?

& W
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